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1+
2+
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x-cantillationLevel=”0.1.0” ”strong=”k/776|������/���
x-morph=”OSHM:HR/Ncbsa”
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morph=”OSHM:HNcfsa” x-cantillationLevel=”0.1”
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x-morph=”OSHM:HC/Vhq1cs/Sp3fs”
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3+
4+
5U We agree with both BHS 1997 and BHQ on an unexpected reading.
6+
7+
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cantillationLevel=”0.0” ”strong=”1992|�������
x-morph=”OSHM:HPp3mp” x-
cantillationLevel=”0”� 7 8
KJV:Hos.2.5 strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”2181|���������
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x-morph=”OSHM:HTo”��/����������|strong=”1870”
x-morph=”OSHM:HNcbsc/Sp2fs” x-
cantillationLevel=”1.0” strong=”b/5518|���������/���
b” x-morph=”OSHM:HRd/Ncfsa” x-
cantillationLevel=”1” ”strong=”c/1443|������������/��
x-morph=”OSHM:HC/Vqq1cs” x-
cantillationLevel=”0.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”��/���������|strong=”1448”
x-morph=”OSHM:HNcfsc/Sp3fs” x-
cantillationLevel=”0.1” strong=”c/5410|��/������������/��
b” x-morph=”OSHM:HC/Ncbpc/Sp3fs”
x-cantillationLevel=”0.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”4672|��������
x-morph=”OSHM:HVqi3fs” x-
cantillationLevel=”0”� 9 10
KJV:Hos.2.7 ”strong=”c/7291|���������/��
x-morph=”OSHM:HC/Vpq3fs”
”strong=”853|��� x-morph=”OSHM:HTo”���/�����������|strong=”157”
x-morph=”OSHM:HVprmpc/Sp3fs”
x-cantillationLevel=”1.1.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”����������|strong=”5381”
x-morph=”OSHM:HVhi3fs” ”strong=”853|�/�����
x-morph=”OSHM:HTo/Sp3mp” x-
cantillationLevel=”1.1” ”strong=”c/1245|�/����������/��
x-morph=”OSHM:HC/Vpq3fs/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”4672|��������
x-morph=”OSHM:HVqi3fs” x-
cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqq3fs” x-
cantillationLevel=”0.1.1” ”strong=”3212|��������
x-morph=”OSHM:HVqi1cs” ”strong=”c/7725|�����������/��
x-morph=”OSHM:HC/Vqi1cs” x-
cantillationLevel=”0.1.0” ”strong=”413|���
x-morph=”OSHM:HR”�/��������|strong=”376”
x-morph=”OSHM:HNcmsc/Sp1cs”
”strong=”d/7223|���������/���
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x-morph=”OSHM:HTd/Aomsa” x-
cantillationLevel=”0.1” strong=”3588|�����
a” x-morph=”OSHM:HC” strong=”2896|�����
a” x-morph=”OSHM:HAamsa”
”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0.0.0” strong=”227|����
a” x-morph=”OSHM:HD” x-
cantillationLevel=”0.0” ”strong=”m/6258|�������/��
x-morph=”OSHM:HR/D” x-cantillationLevel=”0”�
10 11 KJV:Hos.2.8 ”strong=”c/1931|�����/��
x-morph=”OSHM:HC/Pp3fs” x-
cantillationLevel=”1.2.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”3045|���������
x-morph=”OSHM:HVqp3fs” x-
cantillationLevel=”1.2” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”595|���������
x-morph=”OSHM:HPp1cs” x-
cantillationLevel=”1.1.0” ”strong=”5414|���������
x-morph=”OSHM:HVqp1cs” ”strong=”l|��/���
x-morph=”OSHM:HR/Sp3fs” x-
cantillationLevel=”1.1” ”strong=”d/1715|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.0” ”strong=”c/d/8492|����������/��/��
x-morph=”OSHM:HC/Td/Ncmsa”
”strong=”c/d/3323|���������/��/��
x-morph=”OSHM:HC/Td/Ncmsa” x-
cantillationLevel=”1” ”strong=”c/3701|������/��
x-morph=”OSHM:HC/Ncmsa”
strong=”7235|������������
a” x-morph=”OSHM:HVhp1cs”
”strong=”l|��/��� x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0.0.0” ”strong=”c/2091|������/��
x-morph=”OSHM:HC/Ncmsa” x-
cantillationLevel=”0.0” strong=”6213|�������
a” x-morph=”OSHM:HVqp3cp”
strong=”l/1168|�������/��
a” x-morph=”OSHM:HRd/Np” x-
cantillationLevel=”0”� 11 12
KJV:Hos.2.9 strong=”l/3651|����/��
c” x-morph=”OSHM:HR/D” ”strong=”7725|��������
x-morph=”OSHM:HVqi1cs” x-
cantillationLevel=”1.2” ”strong=”c/3947|�����������/��

x-morph=”OSHM:HC/Vqq1cs”
”strong=”1715|��/������ x-
morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”1.1.0” ”strong=”b/6256|��/�����/���
x-morph=”OSHM:HR/Ncbsc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/8492|�/����������/��
x-morph=”OSHM:HC/Ncmsc/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”b/4150|��/��������/���
x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/5337|������������/��
x-morph=”OSHM:HC/Vhq1cs” x-
cantillationLevel=”0.1.0” ”strong=”6785|�/�������
x-morph=”OSHM:HNcmsc/Sp1cs”
”strong=”c/6593|�/���������/��
x-morph=”OSHM:HC/Ncmsc/Sp1cs”
x-cantillationLevel=”0.1” ”strong=”l/3680|��������/��
x-morph=”OSHM:HR/Vpc” x-
cantillationLevel=”0.0” ”strong=”853|���
x-morph=”OSHM:HTo”��/����������|strong=”6172”
x-morph=”OSHM:HNcfsc/Sp3fs” x-
cantillationLevel=”0”� 12 13
KJV:Hos.2.10 ”strong=”c/6258|�������/��
x-morph=”OSHM:HC/D” x-cantillationLevel=”1.0.0”
”strong=”1540|��������� x-
morph=”OSHM:HVpi1cs” ”strong=”853|���
x-morph=”OSHM:HTo”��/����������|strong=”5040”
x-morph=”OSHM:HNcfsc/Sp3fs” x-
cantillationLevel=”1.0” strong=”l/5869|�������/��
a” x-morph=”OSHM:HR/Ncbdc”
”strong=”157|��/���������� x-
morph=”OSHM:HVprmpc/Sp3fs” x-
cantillationLevel=”1” ”strong=”c/376|������/��
x-morph=”OSHM:HC/Ncmsa” x-
cantillationLevel=”0.0” ”strong=”3808|����
x-morph=”OSHM:HTn”����/����������|strong=”5337”
x-morph=”OSHM:HVhi3ms/Sp3fs”
”strong=”m/3027|�/������/��
x-morph=”OSHM:HR/Ncbsc/Sp1cs”
x-cantillationLevel=”0”� 13 14
KJV:Hos.2.11 strong=”c/7673|�������������/��
a” x-morph=”OSHM:HC/Vhq1cs” x-
cantillationLevel=”1.1.0” ”strong=”3605|����
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x-morph=”OSHM:HNcmsc”��/�����������|strong=”4885”
x-morph=”OSHM:HNcmsc/Sp3fs” x-
cantillationLevel=”1.1” ”strong=”2282|��/������
x-morph=”OSHM:HNcmsc/Sp3fs” x-
cantillationLevel=”1.0” ”strong=”2320|��/��������
x-morph=”OSHM:HNcmsc/Sp3fs”
”strong=”c/7676|��/����������/��
x-morph=”OSHM:HC/Ncbsc/Sp3fs”
x-cantillationLevel=”1” ”strong=”c/3605|����/��
x-morph=”OSHM:HC/Ncmsc” x-
cantillationLevel=”0.0” ”strong=”4150|��/��������
x-morph=”OSHM:HNcmsc/Sp3fs”
x-cantillationLevel=”0”� 14 15
KJV:Hos.2.12 ”strong=”c/8074|������������/��
x-morph=”OSHM:HC/Vhq1cs” x-
cantillationLevel=”1.2.1” ”strong=”1612|���/�������
x-morph=”OSHM:HNcbsc/Sp3fs” x-
cantillationLevel=”1.2.0” ”strong=”c/8384|��/����������/��
x-morph=”OSHM:HC/Ncfsc/Sp3fs”
x-cantillationLevel=”1.2” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”559|��������
x-morph=”OSHM:HVqp3fs” x-
cantillationLevel=”1.1.1” ”strong=”866|��������
x-morph=”OSHM:HNcfsa” ”strong=”1992|��������
x-morph=”OSHM:HPp3mp” x-
cantillationLevel=”1.1.0” ”strong=”l|�/���
x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”5414|��������
x-morph=”OSHM:HVqp3cp”�/����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”1.0” ”strong=”157|�/����������
x-morph=”OSHM:HVprmpc/Sp1cs”
x-cantillationLevel=”1” strong=”c/7760|�/����������/��
a” x-morph=”OSHM:HC/Vqq1cs/Sp3mp”
strong=”l/3293|������/�� a”
x-morph=”OSHM:HR/Ncmsa” x-
cantillationLevel=”0.1” ”strong=”c/398|�/���������/��
x-morph=”OSHM:HC/Vqq3fs/Sp3mp”
x-cantillationLevel=”0.0” strong=”2416|�������
c” x-morph=”OSHM:HNcfsc”
strong=”d/7704|��������/��
b” x-morph=”OSHM:HTd/Ncmsa”

x-cantillationLevel=”0”� 15 16
KJV:Hos.2.13 strong=”c/6485|�����������/��
a” x-morph=”OSHM:HC/Vqq1cs”
strong=”5921|��/������ a”
x-morph=”OSHM:HR/Sp3fs” x-
cantillationLevel=”1.2.1” ”strong=”853|���
x-morph=”OSHM:HTo”�������|strong=”3117”
x-morph=”OSHM:HNcmpc” strong=”d/1168|����������/��
a” x-morph=”OSHM:HTd/Np” x-
cantillationLevel=”1.2.0” strong=”834|�������
a” x-morph=”OSHM:HTr” strong=”6999|����������
a” x-morph=”OSHM:HVhi3fs”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.2” strong=”c/5710|�������/��
b” x-morph=”OSHM:HC/Vqw3fs”
”strong=”5141|���/������ x-
morph=”OSHM:HNcmsc/Sp3fs” x-
cantillationLevel=”1.1.0” ”strong=”c/2484|��/���������/��
x-morph=”OSHM:HC/Ncfsc/Sp3fs”
x-cantillationLevel=”1.1” ”strong=”c/3212|��������/��
x-morph=”OSHM:HC/Vqw3fs” x-
cantillationLevel=”1.0” strong=”310|��������
a” x-morph=”OSHM:HR” ”strong=”157|��/����������
x-morph=”OSHM:HVprmpc/Sp3fs”
x-cantillationLevel=”1” ”strong=”c/853|�/�����/��
x-morph=”OSHM:HC/To/Sp1cs”
”strong=”7911|��������� x-
morph=”OSHM:HVqp3fs” x-
cantillationLevel=”0.0” ”strong=”5002|�����
x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
� 16 17 KJV:Hos.2.14 strong=”l/3651|����/��
c” x-morph=”OSHM:HR/D” x-
cantillationLevel=”1.1.1” ”strong=”2009|�������
x-morph=”OSHM:HTm” ”strong=”595|���������
x-morph=”OSHM:HPp1cs” x-
cantillationLevel=”1.1.0” strong=”6601|��/���������
b” x-morph=”OSHM:HVprmsc/Sp3fs”
x-cantillationLevel=”1.1” ”strong=”c/3212|��/������������/��
x-morph=”OSHM:HC/Vhq1cs/Sp3fs”
x-cantillationLevel=”1.0” strong=”d/4057|����������/��
b” x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1” ”strong=”c/1696|������������/��

15+
16+
17+



CONTENTS 11

x-morph=”OSHM:HC/Vpq1cs” x-
cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR” 18 19
20 strong=”3820|��/������ a”
x-morph=”OSHM:HNcmsc/Sp3fs”
x-cantillationLevel=”0”� 17 21
KJV:Hos.2.15 ”strong=”c/5414|���������/��
x-morph=”OSHM:HC/Vqq1cs”
”strong=”l|��/��� x-morph=”OSHM:HR/Sp3fs”
”strong=”853|��� x-morph=”OSHM:HTo”���/����������|strong=”3754”
x-morph=”OSHM:HNcbpc/Sp3fs” x-
cantillationLevel=”1.1.0” ”strong=”m/8033|������/��
x-morph=”OSHM:HR/D” x-cantillationLevel=”1.1”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�������|strong=”6010”
x-morph=”OSHM:HNcmsc” ”strong=”5911|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”l/6607|������/�� x-
morph=”OSHM:HR/Ncmsc” strong=”8615|���������
b” x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”1” strong=”c/6030|��������/��
b” x-morph=”OSHM:HC/Vqq3fs”
”strong=”8033|��/�������� x-
morph=”OSHM:HD/Sd” x-cantillationLevel=”0.1.0”
”strong=”k/3117|�����/��� x-
morph=”OSHM:HR/Ncmpc” strong=”5271|��/���������
a” x-morph=”OSHM:HNcbpc/Sp3fs”
x-cantillationLevel=”0.1” ”strong=”c/k/3117|�����/��/���
x-morph=”OSHM:HC/R/Ncmsc”
x-cantillationLevel=”0.0” 22
”strong=”5927|��/������� x-
morph=”OSHM:HVqc/Sp3fs” ”strong=”m/776|������/��
x-morph=”OSHM:HR/Ncbsc”�����������|strong=”4714”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
� 18 23 KJV:Hos.2.16 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqq3ms” ”strong=”b/3117|�����/��
x-morph=”OSHM:HRd/Ncmsa”�����/���|strong=”d/1931”
x-morph=”OSHM:HTd/Pp3ms” x-
cantillationLevel=”1.1.0” ”strong=”5002|�����

x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”7121|����������� x-
morph=”OSHM:HVqi2fs” x-cantillationLevel=”1.0”
”strong=”376|�/������� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”����������|strong=”7121”
x-morph=”OSHM:HVqi2fs”�/����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” ”strong=”5750|�����
x-morph=”OSHM:HD” x-cantillationLevel=”0.0”
”strong=”1180|�/�������� x-
morph=”OSHM:HNp/Sp1cs” x-
cantillationLevel=”0”� 19 24
KJV:Hos.2.17 ”strong=”c/5493|����������/��
x-morph=”OSHM:HC/Vhq1cs” x-
cantillationLevel=”1.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”���������|strong=”8034”
x-morph=”OSHM:HNcmpc” strong=”d/1168|����������/��
a” x-morph=”OSHM:HTd/Np” x-
cantillationLevel=”1.0” ”strong=”m/6310|��/�����/��
x-morph=”OSHM:HR/Ncmsc/Sp3fs”
x-cantillationLevel=”1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”������������|strong=”2142”
x-morph=”OSHM:HVNi3mp” ”strong=”5750|�����
x-morph=”OSHM:HD” x-cantillationLevel=”0.0”
”strong=”b/8034|�/������/���
x-morph=”OSHM:HR/Ncmsc/Sp3mp”
x-cantillationLevel=”0”� 20 25
KJV:Hos.2.18 ”strong=”c/3772|���������/��
x-morph=”OSHM:HC/Vqq1cs” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” ”strong=”1285|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.2.0”
”strong=”b/3117|������/��� x-
morph=”OSHM:HRd/Ncmsa” ”strong=”d/1931|�����/��
x-morph=”OSHM:HTd/Pp3ms” x-
cantillationLevel=”1.2” strong=”5973|���
a” x-morph=”OSHM:HR”��������|strong=”2416
c” x-morph=”OSHM:HNcfsc” strong=”d/7704|��������/��

18Q Marks a place where we agree with BHQ against BHS in reading L.
19n Marks an anomalous form.
20p We read punctuation in L differently from BHS.
21+
22U We agree with both BHS 1997 and BHQ on an unexpected reading.
23+
24+
25+
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b” x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1.0” strong=”c/5973|���/��
a” x-morph=”OSHM:HC/R”������|strong=”5775”
x-morph=”OSHM:HNcmsc” ”strong=”d/8064|����������/��
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”1.1” ”strong=”c/7431|�������/��
x-morph=”OSHM:HC/Ncmsc” x-cantillationLevel=”1.0”
”strong=”d/127|��������/���
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1”
”strong=”c/7198|�������/�� x-
morph=”OSHM:HC/Ncfsa” ”strong=”c/2719|������/��
x-morph=”OSHM:HC/Ncfsa” ”strong=”c/4421|����������/��
x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”0.1.0”
”strong=”7665|����������� x-
morph=”OSHM:HVqi1cs” strong=”4480|���
a” x-morph=”OSHM:HR”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-
cantillationLevel=”0.1” ”strong=”c/7901|�/���������������/��
x-morph=”OSHM:HC/Vhq1cs/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”l/983|������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0”�
21 26 KJV:Hos.2.19 ”strong=”c/781|��/������������/��
x-morph=”OSHM:HC/Vpq1cs/Sp2fs”
”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”l/5769|�������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1”
”strong=”c/781|��/������������/��
x-morph=”OSHM:HC/Vpq1cs/Sp2fs”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0.1.0” ”strong=”b/6664|������/���
x-morph=”OSHM:HR/Ncmsa” ”strong=”c/b/4941|����������/��/��
x-morph=”OSHM:HC/R/Ncmsa” x-
cantillationLevel=”0.1” strong=”c/b/2617|������/��/��
a” x-morph=”OSHM:HC/R/Ncmsa”
x-cantillationLevel=”0.0” strong=”c/b/7356|���������/��/���
b” x-morph=”OSHM:HC/R/Ncmpa”
x-cantillationLevel=”0”� 22 27 KJV:Hos.2.20
”strong=”c/781|��/������������/��
x-morph=”OSHM:HC/Vpq1cs/Sp2fs”
”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”b/530|���������/���

x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”1”
”strong=”c/3045|����������/��
x-morph=”OSHM:HC/Vqq2fs” x-cantillationLevel=”0.0”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
� 23 28 KJV:Hos.2.21 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqq3ms” x-
cantillationLevel=”1.1.1.0” � ”strong=”b/3117|������/���
x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/1931|�����/��
x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”1.1.1”
strong=”6030|��������� b” x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”1.1.0” ”strong=”5002|�����
x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”6030|�������� b” x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”1.0” ”strong=”853|���
x-morph=”OSHM:HTo”����������/���|strong=”d/8064”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1”
”strong=”c/1992|����/�� x-morph=”OSHM:HC/Pp3mp”
x-cantillationLevel=”0.0” strong=”6030|��������
b” x-morph=”OSHM:HVqi3mp” ”strong=”853|���
x-morph=”OSHM:HTo”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0”�
24 29 KJV:Hos.2.22 ”strong=”c/d/776|������/��/��
x-morph=”OSHM:HC/Td/Ncbsa” strong=”6030|���������
b” x-morph=”OSHM:HVqi3fs” x-cantillationLevel=”1.1”
”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/1715”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”����������/���|strong=”d/8492”
x-morph=”OSHM:HTd/Ncmsa” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”���������/���|strong=”d/3323”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1”
”strong=”c/1992|����/�� x-morph=”OSHM:HC/Pp3mp”
x-cantillationLevel=”0.0” strong=”6030|��������
b” x-morph=”OSHM:HVqi3mp” ”strong=”853|����
x-morph=”OSHM:HTo”������������|strong=”3157”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
25 30 KJV:Hos.2.23 ”strong=”c/2232|��/�����������/��
x-morph=”OSHM:HC/Vqq1cs/Sp3fs”
”strong=”l|��/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.1.0” ”strong=”b/776|������/���

26+
27+
28+
29+
30+
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x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1.1”
”strong=”c/7355|������������/��
x-morph=”OSHM:HC/Vpq1cs” x-cantillationLevel=”1.0”
”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”3808”
x-morph=”OSHM:HTn” ”strong=”7355|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/559|�����������/��
x-morph=”OSHM:HC/Vqq1cs” ”strong=”l/3808|����/��
x-morph=”OSHM:HR/Np”��������|strong=”5971
a” x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
strong=”5971|�/����� a” x-morph=”OSHM:HNcmsc/Sp1cs”��������|strong=”859
a” x-morph=”OSHM:HPp2ms” x-cantillationLevel=”0.1”
”strong=”c/1931|�����/�� x-morph=”OSHM:HC/Pp3ms”
x-cantillationLevel=”0.0” ”strong=”559|�������
x-morph=”OSHM:HVqi3ms” ”strong=”430|�/�������
x-morph=”OSHM:HNcmpc/Sp1cs” x-
cantillationLevel=”0”� �3 ”strong=”c/559|��������/��

x-morph=”OSHM:HC/Vqw3ms”
”strong=”3068|������� x-

morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0”
”strong=”413|�/����� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.1.1” ”strong=”5750|�����
x-morph=”OSHM:HD” x-cantillationLevel=”1.1.0”
”strong=”3212|����� x-morph=”OSHM:HVqv2ms”
”strong=”157|������ x-morph=”OSHM:HVqv2ms”���������|strong=”802”
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”1.1” ”strong=”157|��������
x-morph=”OSHM:HVqsfsc” ”strong=”7453|�����
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.0” ”strong=”c/5003|����������/��
x-morph=”OSHM:HC/Vprfsa” x-
cantillationLevel=”1” ”strong=”k/160|��������/���
x-morph=”OSHM:HR/Vqc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2.0”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”1121
a” x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.2”
”strong=”c/1992|����/�� x-
morph=”OSHM:HC/Pp3mp” x-
cantillationLevel=”0.1.1” ”strong=”6437|��������
x-morph=”OSHM:HVqrmpa” x-
cantillationLevel=”0.1.0” ”strong=”413|���
x-morph=”OSHM:HR”����������|strong=”430”
x-morph=”OSHM:HNcmpa” ”strong=”312|���������

x-morph=”OSHM:HAampa” x-
cantillationLevel=”0.1” ”strong=”c/157|��������/��
x-morph=”OSHM:HC/Vqrmpc” x-
cantillationLevel=”0.0” ”strong=”809|�����������
x-morph=”OSHM:HNcfpc” ”strong=”6025|���������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”0”� 2 strong=”c/3739|��/��������/��
a” x-morph=”OSHM:HC/Vqw1cs/Sp3fs”
”strong=”l|�/���� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.1” ”strong=”b/2568|����������/���
x-morph=”OSHM:HRd/Acmsa”
”strong=”6240|������� x-
morph=”OSHM:HAcmsa” x-
cantillationLevel=”1.0” ”strong=”3701|�������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1” strong=”c/2563|������/��
c” x-morph=”OSHM:HC/Ncmsc”
”strong=”8184|����������
x-morph=”OSHM:HNcfpa” x-
cantillationLevel=”0.0” ”strong=”c/3963|�������/��
x-morph=”OSHM:HC/Ncmsc”
”strong=”8184|����������
x-morph=”OSHM:HNcfpa” x-
cantillationLevel=”0”� 3 ”strong=”c/559|������/��
x-morph=”OSHM:HC/Vqw1cs”
”strong=”413|��/������ x-
morph=”OSHM:HR/Sp3fs” x-
cantillationLevel=”1.2.1” ”strong=”3117|�������
x-morph=”OSHM:HNcmpa” strong=”7227|��������
a” x-morph=”OSHM:HAampa” x-
cantillationLevel=”1.2.0” ”strong=”3427|����������
x-morph=”OSHM:HVqi2fs” ”strong=”l|�/���
x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”1.2” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”2181|��������
x-morph=”OSHM:HVqi2fs” x-
cantillationLevel=”1.1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”1961|���������
x-morph=”OSHM:HVqi2fs” x-
cantillationLevel=”1.0” ”strong=”l/376|������/��
x-morph=”OSHM:HR/Ncmsa” x-
cantillationLevel=”1” ”strong=”c/1571|���/��
x-morph=”OSHM:HC/Ta”�������|strong=”589”
x-morph=”OSHM:HPp1cs” x-
cantillationLevel=”0.0” ”strong=”413|��/�������
x-morph=”OSHM:HR/Sp2fs” x-



14 CONTENTS

cantillationLevel=”0”� 4 strong=”3588|�����
a” x-morph=”OSHM:HC” x-
cantillationLevel=”1.2.1.0” �
”strong=”3117|������� x-
morph=”OSHM:HNcmpa” strong=”7227|��������
a” x-morph=”OSHM:HAampa” x-
cantillationLevel=”1.2.1” ”strong=”3427|����������
x-morph=”OSHM:HVqi3mp” x-
cantillationLevel=”1.2.0” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.2”
”strong=”369|����� x-morph=”OSHM:HTn”
”strong=”4428|�������� x-
morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.1.0” ”strong=”c/369|�����/��
x-morph=”OSHM:HC/Tn” ”strong=”8269|�����
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.1” ”strong=”c/369|�����/��
x-morph=”OSHM:HC/Tn” ”strong=”2077|������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.0” ”strong=”c/369|�����/��
x-morph=”OSHM:HC/Tn” ”strong=”4676|���������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”1” ”strong=”c/369|�����/��
x-morph=”OSHM:HC/Tn” ”strong=”646|�������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.0” ”strong=”c/8655|���������/��
x-morph=”OSHM:HC/Ncmpa”
x-cantillationLevel=”0”� 5
strong=”310|������ a” x-
morph=”OSHM:HR” x-cantillationLevel=”1.2.1”
”strong=”7725|����������
x-morph=”OSHM:HVqi3mp” x-
cantillationLevel=”1.2.0” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.2”
”strong=”c/1245|���������/��
x-morph=”OSHM:HC/Vpq3cp” x-
cantillationLevel=”1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”3068”
x-morph=”OSHM:HNp” ”strong=”430|����/�������
x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”c/853|����/��
x-morph=”OSHM:HC/To” x-

cantillationLevel=”1.0” ”strong=”1732|�������
x-morph=”OSHM:HNp” ”strong=”4428|�/��������
x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/6342|��������/��
x-morph=”OSHM:HC/Vqq3cp”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
”strong=”c/413|���/�� x-
morph=”OSHM:HC/R”��/������|strong=”2898”
x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”b/319|���������/���
x-morph=”OSHM:HR/Ncfsc” ”strong=”d/3117|��������/��
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”0”� �4 ”strong=”8085|���������

x-morph=”OSHM:HVqv2mp”
”strong=”1697|����� x-

morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
strong=”1121|������� a” x-
morph=”OSHM:HNcmpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
strong=”3588|����� a” x-
morph=”OSHM:HC” ”strong=”7379|�����
x-morph=”OSHM:HNcbsa” ”strong=”l/3068|������/���
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”0.1.0” strong=”5973|���
a” x-morph=”OSHM:HR”�����������|strong=”3427”
x-morph=”OSHM:HVqrmpc” ”strong=”d/776|������/��
x-morph=”OSHM:HTd/Ncbsa” x-
cantillationLevel=”0.1” strong=”3588|�����
a” x-morph=”OSHM:HC” x-
cantillationLevel=”0.0.0.0” ”strong=”369|����
x-morph=”OSHM:HTn”�������|strong=”571”
x-morph=”OSHM:HNcfsa” ”strong=”c/369|����/���
x-morph=”OSHM:HC/Tn”�������|strong=”2617
a” x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.0.0” ”strong=”c/369|�����/��
x-morph=”OSHM:HC/Tn”��������|strong=”1847”
x-morph=”OSHM:HNcfsc” ”strong=”430|���������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”0.0” ”strong=”b/776|������/���
x-morph=”OSHM:HRd/Ncbsa”
x-cantillationLevel=”0”� 2
”strong=”422|������ x-morph=”OSHM:HVqa”
”strong=”c/3584|�������/��
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x-morph=”OSHM:HC/Vpa” x-
cantillationLevel=”1.1” ”strong=”c/7523|�������/��
x-morph=”OSHM:HC/Vqa” ”strong=”c/1589|������/��
x-morph=”OSHM:HC/Vqa” x-
cantillationLevel=”1.0” ”strong=”c/5003|������/��
x-morph=”OSHM:HC/Vqa” x-
cantillationLevel=”1” ”strong=”6555|���������
x-morph=”OSHM:HVqp3cp” x-
cantillationLevel=”0.1” ”strong=”c/1818|�������/��
x-morph=”OSHM:HC/Ncmpa”
”strong=”b/1818|�������/���
x-morph=”OSHM:HR/Ncmpa” x-
cantillationLevel=”0.0” ”strong=”5060|��������
x-morph=”OSHM:HVqp3cp” x-
cantillationLevel=”0”� 3 strong=”5921|���
a” x-morph=”OSHM:HR”������|strong=”3651
c” x-morph=”OSHM:HTm” x-
cantillationLevel=”1.1.1.0” �
”strong=”56|��������� x-
morph=”OSHM:HVqi3fs” ”strong=”d/776|������/��
x-morph=”OSHM:HTd/Ncbsa” x-
cantillationLevel=”1.1.1” ”strong=”c/535|��������/��
x-morph=”OSHM:HC/VKq3ms” x-
cantillationLevel=”1.1.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”���������|strong=”3427”
x-morph=”OSHM:HVqrmsa” ”strong=”b|��/����
x-morph=”OSHM:HR/Sp3fs” x-
cantillationLevel=”1.1” strong=”b/2416|�������/���
c” x-morph=”OSHM:HR/Ncfsc”
strong=”d/7704|��������/�� b”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.0” ”strong=”c/b/5775|�����/��/��
x-morph=”OSHM:HC/R/Ncmsc”
”strong=”d/8064|����������/��
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”1” ”strong=”c/1571|���/��
x-morph=”OSHM:HC/Ta”��������|strong=”1709”
x-morph=”OSHM:HNcmpc” ”strong=”d/3220|�����/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”0.0” ”strong=”622|����������
x-morph=”OSHM:HVNi3mp” x-
cantillationLevel=”0”� 4 ”strong=”389|�����
x-morph=”OSHM:HTa” ”strong=”376|������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.0.0” ”strong=”408|���
x-morph=”OSHM:HTn”�������|strong=”7378”

x-morph=”OSHM:HVqj3ms” x-
cantillationLevel=”1.0” ”strong=”c/408|���/��
x-morph=”OSHM:HC/Tn”��������|strong=”3198”
x-morph=”OSHM:HVhj3ms” ”strong=”376|������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1” strong=”c/5971|���/�����/��
a” x-morph=”OSHM:HC/Ncmsc/Sp2ms”
x-cantillationLevel=”0.0” ”strong=”k/7378|���������/���
x-morph=”OSHM:HR/Vhrmpc”
”strong=”3548|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 5
”strong=”c/3782|�����������/��
x-morph=”OSHM:HC/Vqq2ms”
”strong=”d/3117|������/�� x-
morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1” ”strong=”c/3782|�������/��
x-morph=”OSHM:HC/Vqq3ms”
”strong=”1571|���� x-morph=”OSHM:HTa”��������|strong=”5030”
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.0.0” strong=”5973|���/�����
a” x-morph=”OSHM:HR/Sp2ms” x-
cantillationLevel=”1.0” ”strong=”3915|��������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1” ”strong=”c/1820|���������/��
x-morph=”OSHM:HC/Vqq1cs” x-
cantillationLevel=”0.0” ”strong=”517|��/������
x-morph=”OSHM:HNcfsc/Sp2ms”
x-cantillationLevel=”0”� 6
”strong=”1820|�������� x-
morph=”OSHM:HVNp3cp” strong=”5971|�/������
a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”m/1097|�������/��
x-morph=”OSHM:HR/Ncmsc”
”strong=”d/1847|�������/��
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”��������|strong=”859
a” x-morph=”OSHM:HPp2ms” x-
cantillationLevel=”0.2.1.0” ”strong=”d/1847|�������/��
x-morph=”OSHM:HTd/Ncfsa”
strong=”3988|���������� a”
x-morph=”OSHM:HVqp2ms” x-
cantillationLevel=”0.2.1” strong=”c/3988|���/����������/��
a” x-morph=”OSHM:HC/Vqi1cs/Sp2ms”
x-cantillationLevel=”0.2.0” ”strong=”m/3547|�������/��
x-morph=”OSHM:HR/Vpc” ”strong=”l|�/���
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x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”0.2” ”strong=”c/7911|�����������/��
x-morph=”OSHM:HC/Vqw2ms” x-
cantillationLevel=”0.1.0” ”strong=”8451|��������
x-morph=”OSHM:HNcfsc” ”strong=”430|��/��������
x-morph=”OSHM:HNcmpc/Sp2ms”
x-cantillationLevel=”0.1” ”strong=”7911|����������
x-morph=”OSHM:HVqi1cs” strong=”1121|��/�������
a” x-morph=”OSHM:HNcmpc/Sp2ms”
x-cantillationLevel=”0.0” ”strong=”1571|����
x-morph=”OSHM:HTa”�������|strong=”589”
x-morph=”OSHM:HPp1cs” x-
cantillationLevel=”0”� 7 strong=”k/7235|�/������/���
a” x-morph=”OSHM:HR/Vqc/Sp3mp”
x-cantillationLevel=”1.0” strong=”3651|�����
c” x-morph=”OSHM:HTm” ”strong=”2398|��������
x-morph=”OSHM:HVqp3cp”�/����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”1” ”strong=”3519|�/���������
x-morph=”OSHM:HNcbsc/Sp3mp” x-
cantillationLevel=”0.0” ”strong=”b/7036|�������/���
x-morph=”OSHM:HR/Ncmsa”
”strong=”4171|������� x-
morph=”OSHM:HVhi1cs” x-
cantillationLevel=”0”� 8 strong=”2403|��������
b” x-morph=”OSHM:HNcfsc”
strong=”5971|�/������ a” x-
morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”1.0” ”strong=”398|���������
x-morph=”OSHM:HVqi3mp” x-
cantillationLevel=”1” ”strong=”c/413|���/��
x-morph=”OSHM:HC/R”�/��������|strong=”5771”
x-morph=”OSHM:HNcbsc/Sp3mp” x-
cantillationLevel=”0.0” ”strong=”5375|���������
x-morph=”OSHM:HVqi3mp” ”strong=”5315|��/�������
x-morph=”OSHM:HNcbsc/Sp3ms”
x-cantillationLevel=”0”� 9
”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqq3ms”
strong=”k/5971|����/�� a” x-
morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1.0” ”strong=”k/3548|�������/���
x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1” strong=”c/6485|�����������/��
a” x-morph=”OSHM:HC/Vqq1cs”
strong=”5921|��/����� a” x-

morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”0.1.0” ”strong=”1870|�/���������
x-morph=”OSHM:HNcbpc/Sp3ms” x-
cantillationLevel=”0.1” ”strong=”c/4611|�/����������/��
x-morph=”OSHM:HC/Ncmpc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”7725|��������
x-morph=”OSHM:HVhi1cs” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� 10
”strong=”c/398|���������/��
x-morph=”OSHM:HC/Vqq3cp” x-
cantillationLevel=”1.1.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”7646|������������
x-morph=”OSHM:HVqi3mp” x-
cantillationLevel=”1.1” ”strong=”2181|��������
x-morph=”OSHM:HVhp3cp” x-
cantillationLevel=”1.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”6555|����������
x-morph=”OSHM:HVqi3mp” x-
cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”����|strong=”853”
x-morph=”OSHM:HTo”��������|strong=”3068”
x-morph=”OSHM:HNp” strong=”5800|��������
a” x-morph=”OSHM:HVqp3cp” x-
cantillationLevel=”0.0” ”strong=”l/8104|�������/��
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”0”� 11
”strong=”2184|������� x-
morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0.0”
”strong=”c/3196|������/��
x-morph=”OSHM:HC/Ncmsa”
”strong=”c/8492|���������/��
x-morph=”OSHM:HC/Ncmsa” x-
cantillationLevel=”0.0” ”strong=”3947|��������
x-morph=”OSHM:HVqi3ms”�����|strong=”3820
a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 12
strong=”5971|��/����� a” x-
morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”1.1.0” ”strong=”b/6086|��/����/���
x-morph=”OSHM:HR/Ncmsc/Sp3ms”
”strong=”7592|��������� x-
morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.1”
”strong=”c/4731|��/������/��
x-morph=”OSHM:HC/Ncmsc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”5046|��������
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x-morph=”OSHM:HVhi3ms” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”7307|������
x-morph=”OSHM:HNcbsc” ”strong=”2183|����������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”0.1.0” ”strong=”8582|��������
x-morph=”OSHM:HVhp3ms” x-
cantillationLevel=”0.1” ”strong=”c/2181|���������/��
x-morph=”OSHM:HC/Vqw3mp” x-
cantillationLevel=”0.0” ”strong=”m/8478|�������/��
x-morph=”OSHM:HR/R” ”strong=”430|����/�������
x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”0”� 13 strong=”5921|���
a” x-morph=”OSHM:HR”���������|strong=”7218
a” x-morph=”OSHM:HNcmpc” ”strong=”d/2022|�������/��
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”1.1.1.0” ”strong=”2076|�����������
x-morph=”OSHM:HVpi3mp” x-cantillationLevel=”1.1.1”
strong=”c/5921|���/�� a” x-
morph=”OSHM:HC/R”����������/���|strong=”d/1389”
x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”1.1.0”
strong=”6999|����������� a” x-
morph=”OSHM:HVpi3mp” x-cantillationLevel=”1.1”
”strong=”8478|������� x-morph=”OSHM:HR”
”strong=”437|�������� x-morph=”OSHM:HNcmsa”
”strong=”c/3839|��������/�� x-
morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.0.0”
”strong=”c/424|������/�� x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”1.0” strong=”3588|�����
a” x-morph=”OSHM:HC” strong=”2896|�����
a” x-morph=”OSHM:HAamsa” ”strong=”6738|��/������
x-morph=”OSHM:HNcmsc/Sp3fs” x-
cantillationLevel=”1” strong=”5921|���
a” x-morph=”OSHM:HR”������|strong=”3651
c” x-morph=”OSHM:HTm” x-cantillationLevel=”0.1.1”
”strong=”2181|�������������
x-morph=”OSHM:HVqi3fp” x-cantillationLevel=”0.1.0”
”strong=”1323|����/����������
x-morph=”OSHM:HNcfpc/Sp2mp” x-
cantillationLevel=”0.1” ”strong=”c/3618|����/���������/��
x-morph=”OSHM:HC/Ncfpc/Sp2mp”
x-cantillationLevel=”0.0” ”strong=”5003|�������������
x-morph=”OSHM:HVpi3fp” x-cantillationLevel=”0”�
14 ”strong=”3808|���� x-morph=”OSHM:HTn”����������|strong=”6485
a” x-morph=”OSHM:HVqi1cs” strong=”5921|���

a” x-morph=”OSHM:HR”����/����������|strong=”1323”
x-morph=”OSHM:HNcfpc/Sp2mp” x-
cantillationLevel=”1.2.1.0” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”2181|�����������
x-morph=”OSHM:HVqi3fp” x-cantillationLevel=”1.2.1”
strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”����/������������|strong=”3618”
x-morph=”OSHM:HNcfpc/Sp2mp” x-
cantillationLevel=”1.2.0” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”5003|������������
x-morph=”OSHM:HVpi3fp” x-cantillationLevel=”1.2”
strong=”3588|���� a” x-morph=”OSHM:HC”�����|strong=”1992”
x-morph=”OSHM:HPp3mp” x-cantillationLevel=”1.1.0”
strong=”5973|��� a” x-morph=”OSHM:HR”��������/���|strong=”d/2181”
x-morph=”OSHM:HTd/Vqrfpa” ”strong=”6504|����������
x-morph=”OSHM:HVpi3mp” x-cantillationLevel=”1.1”
strong=”c/5973|���/�� a” x-morph=”OSHM:HC/R”�����������/���|strong=”d/6948”
x-morph=”OSHM:HTd/Aafpa” x-cantillationLevel=”1.0”
”strong=”2076|����������� x-
morph=”OSHM:HVpi3mp” x-cantillationLevel=”1”
strong=”c/5971|����/�� a” x-morph=”OSHM:HC/Ncmsa”
”strong=”3808|���� x-morph=”OSHM:HTn”��������|strong=”995”
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.0”
”strong=”3832|��������� x-morph=”OSHM:HVNi3ms”
x-cantillationLevel=”0”� 15 strong=”518|���
a” x-morph=”OSHM:HC”�������|strong=”2181”
x-morph=”OSHM:HVqrmsa” strong=”859|�������
a” x-morph=”OSHM:HPp2ms” x-cantillationLevel=”1.1.0”
”strong=”3478|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”408|��� x-morph=”OSHM:HTn”����������|strong=”816”
x-morph=”OSHM:HVqj3ms” x-cantillationLevel=”1.0”
”strong=”3063|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/408|���/��
x-morph=”OSHM:HC/Tn”����������|strong=”935”
x-morph=”OSHM:HVqj2mp” ”strong=”d/1537|����������/��
x-morph=”OSHM:HTd/Np” x-cantillationLevel=”0.1.1”
”strong=”c/408|����/�� x-morph=”OSHM:HC/Tn”����������|strong=”5927”
x-morph=”OSHM:HVqj2mp” x-cantillationLevel=”0.1.0”
”+strong=”1007|������ x-morph=”OSHM:HNp”
”strong=”1007|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”c/408|���/��
x-morph=”OSHM:HC/Tn”��������������|strong=”7650”
x-morph=”OSHM:HVNj2mp” x-cantillationLevel=”0.0”
strong=”2416|��� a” x-morph=”OSHM:HAamsa”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
16 strong=”3588|����� a” x-morph=”OSHM:HC”
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x-cantillationLevel=”1.1.0” ”strong=”k/6510|������/���
x-morph=”OSHM:HR/Ncfsa” ”strong=”5637|���������
x-morph=”OSHM:HVqrfsa” x-cantillationLevel=”1.1”
”strong=”5637|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.0” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”6258|������� x-morph=”OSHM:HD”
x-cantillationLevel=”0.1.0” strong=”7462|�/�������
b” x-morph=”OSHM:HVqi3ms/Sp3mp”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”k/3532|�������/���
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.0”
”strong=”b/4800|���������/���
x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”0”� 17 ”strong=”2266|�������
x-morph=”OSHM:HVqsmsc” ”strong=”6091|����������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.0.0”
”strong=”669|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”3240|��������
x-morph=”OSHM:HVhv2ms”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”�
18 ”strong=”5493|���� x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.0” ”strong=”5435|�/�������
x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”1” ”strong=”2181|��������
x-morph=”OSHM:HVha” ”strong=”2181|��������
x-morph=”OSHM:HVhp3cp” x-cantillationLevel=”0.1”
”strong=”157|�������� x-morph=”OSHM:HVqp3cp”
”strong=”157|������ x-morph=”OSHM:HVqv2mp”
x-cantillationLevel=”0.0.0” ”strong=”7036|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”4043|��/��������� x-
morph=”OSHM:HNcbpc/Sp3fs” x-cantillationLevel=”0”�
19 strong=”6887|������ b” x-morph=”OSHM:HVqp3ms”
”strong=”7307|������ x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.0.0” ”strong=”853|��/������
x-morph=”OSHM:HTo/Sp3fs” x-cantillationLevel=”1.0”
”strong=”b/3671|��/��������/���
x-morph=”OSHM:HR/Ncfdc/Sp3fs”
x-cantillationLevel=”1” ”strong=”c/954|���������/��
x-morph=”OSHM:HC/Vqi3mp” x-cantillationLevel=”0.0”
”strong=”m/2077|�/�����������/��
x-morph=”OSHM:HR/Ncmpc/Sp3mp”

x-cantillationLevel=”0” 31 Marks a
place where we agree with BHQ against
BHS in reading L. 32 33 �5 ”strong=”8085|��������

x-morph=”OSHM:HVqv2mp”������|strong=”2063”
x-morph=”OSHM:HPdxfs”

”strong=”d/3548|����������/��
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”1.1.1.1” ”strong=”c/7181|������������/��
x-morph=”OSHM:HC/Vhv2mp”
x-cantillationLevel=”1.1.1.0” �
strong=”1004|������ b” x-
morph=”OSHM:HNcmsc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
strong=”c/1004|�����/�� b”
x-morph=”OSHM:HC/Ncmsc”
”strong=”d/4428|���������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.1.0” ”strong=”238|�����������
x-morph=”OSHM:HVhv2mp” x-
cantillationLevel=”1.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” x-
cantillationLevel=”1.0” ”strong=”d/4941|�����������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”�����|strong=”6341
a” x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.1.0” ”strong=”1961|���������
x-morph=”OSHM:HVqp2mp”
”strong=”l/4709|���������/��
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”0.1” ”strong=”c/7568|�������/��
x-morph=”OSHM:HC/Ncfsc” x-
cantillationLevel=”0.0” ”strong=”6566|�����������
x-morph=”OSHM:HVqsfsa” strong=”5921|���
a” x-morph=”OSHM:HR”���������|strong=”8396”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
2 strong=”c/7819|���������/��
b” x-morph=”OSHM:HC/Ncfsa”
”strong=”7846|�������� x-
morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.0” ”strong=”6009|�����������

31Q
32n Marks an anomalous form.
33p We read punctuation in L differently from BHS.
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x-morph=”OSHM:HVhp3cp” x-
cantillationLevel=”1” ”strong=”c/589|������/��
x-morph=”OSHM:HC/Pp1cs” x-
cantillationLevel=”0.0” ”strong=”4148|�������
x-morph=”OSHM:HNcmsa” ”strong=”l/3605|�/������/��
x-morph=”OSHM:HR/Ncmsc/Sp3mp”
x-cantillationLevel=”0”� 3
”strong=”589|������ x-morph=”OSHM:HPp1cs”
x-cantillationLevel=”1.1.0” ”strong=”3045|�����������
x-morph=”OSHM:HVqp1cs” ”strong=”669|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/3478|�����������/��
x-morph=”OSHM:HC/Np” x-
cantillationLevel=”1.0” ”strong=”3808|����
x-morph=”OSHM:HTn”���������|strong=”3582”
x-morph=”OSHM:HVNp3ms”
strong=”4480|����/������ a”
x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”6258|�������
x-morph=”OSHM:HD” x-cantillationLevel=”0.1.0”
”strong=”2181|���������� x-
morph=”OSHM:HVhp2ms” ”strong=”669|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
strong=”2930|�������� a” x-
morph=”OSHM:HVNp3ms” x-
cantillationLevel=”0.0” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
4 ”strong=”3808|���� x-
morph=”OSHM:HTn” ”strong=”5414|���������
x-morph=”OSHM:HVqi3mp” x-
cantillationLevel=”1.1.0” ”strong=”4611|����/����������
x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”l/7725|������/��
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”1.0” ”strong=”413|���
x-morph=”OSHM:HR”����/���������|strong=”430”
x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”7307|������
x-morph=”OSHM:HNcbsc” ”strong=”2183|����������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”0.1.0” ”strong=”b/7130|�/��������/���
x-morph=”OSHM:HR/Ncmsc/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”��������|strong=”3068”

x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”3808|���� x-morph=”OSHM:HTn”
”strong=”3045|�������� x-
morph=”OSHM:HVqp3cp” x-
cantillationLevel=”0”� 5 strong=”c/6030|������/��
b” x-morph=”OSHM:HC/Vqp3ms”
”strong=”1347|������� x-
morph=”OSHM:HNcmsc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”b/6440|�/������/���
x-morph=”OSHM:HR/Ncbpc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/3478|�����������/��
x-morph=”OSHM:HC/Np” ”strong=”c/669|����������/��
x-morph=”OSHM:HC/Np” x-
cantillationLevel=”0.1.1” ”strong=”3782|�������������
x-morph=”OSHM:HVNi3mp” x-
cantillationLevel=”0.1.0” ”strong=”b/5771|�/�������/���
x-morph=”OSHM:HR/Ncbsc/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”3782|��������
x-morph=”OSHM:HVqp3ms” ”strong=”1571|����
x-morph=”OSHM:HTa”����������|strong=”3063”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
strong=”5973|�/������ a”
x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0”� 6
”strong=”b/6629|�/������/���
x-morph=”OSHM:HR/Ncbsc/Sp3mp”
”strong=”c/b/1241|�/�������/��/��
x-morph=”OSHM:HC/R/Ncbsc/Sp3mp”
x-cantillationLevel=”1.0.1” ”strong=”3212|���������
x-morph=”OSHM:HVqi3mp” x-
cantillationLevel=”1.0.0” ”strong=”l/1245|��������/��
x-morph=”OSHM:HR/Vpc” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”c/3808|����/�� x-
morph=”OSHM:HC/Tn” ”strong=”4672|����������
x-morph=”OSHM:HVqi3mp” x-
cantillationLevel=”1” strong=”2502|������
a” x-morph=”OSHM:HVqp3ms” x-
cantillationLevel=”0.0” ”strong=”m|����/��
x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0”� 7
”strong=”b/3068|������/��� x-
morph=”OSHM:HR/Np” ”strong=”898|���������
x-morph=”OSHM:HVqp3cp” x-
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cantillationLevel=”1.1” strong=”3588|�����
a” x-morph=”OSHM:HC”��������|strong=”1121
a” x-morph=”OSHM:HNcmpa”
strong=”2114|������� a” x-
morph=”OSHM:HAampa” x-
cantillationLevel=”1.0” ”strong=”3205|��������
x-morph=”OSHM:HVqp3cp” x-
cantillationLevel=”1” ”strong=”6258|�������
x-morph=”OSHM:HD” x-cantillationLevel=”0.0.0”
”strong=”398|�/�������� x-
morph=”OSHM:HVqi3ms/Sp3mp”
”strong=”2320|������� x-
morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.0” ”strong=”854|���
x-morph=”OSHM:HR”����/��������|strong=”2506
a” x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”0”� � 8
”strong=”8628|��������� x-
morph=”OSHM:HVqv2mp” ”strong=”7782|��������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.1.0” ”strong=”b/1390|���������/���
x-morph=”OSHM:HRd/Np” x-
cantillationLevel=”1.1” ”strong=”2689|����������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”1.0” ”strong=”b/7414|������/���
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”1” ”strong=”7321|����������
x-morph=”OSHM:HVhv2mp” x-
cantillationLevel=”0.1.0” ”+strong=”1007|������
x-morph=”OSHM:HNp” ”strong=”1007|������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
strong=”310|��/�������� a”
x-morph=”OSHM:HR/Sp2ms” x-
cantillationLevel=”0.0” ”strong=”1144|������������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
9 ”strong=”669|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”l/8047|��������/�� x-
morph=”OSHM:HR/Ncfsa” ”strong=”1961|���������
x-morph=”OSHM:HVqi3fs” x-
cantillationLevel=”1.1” ”strong=”b/3117|�����/���
x-morph=”OSHM:HR/Ncmsc” x-
cantillationLevel=”1.0” strong=”8433|�����������
a” x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”1” ”strong=”b/7626|���������/���
x-morph=”OSHM:HR/Ncmpc” x-

cantillationLevel=”0.1.0” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”3045|������������
x-morph=”OSHM:HVhp1cs” x-
cantillationLevel=”0.0” ”strong=”539|����������
x-morph=”OSHM:HVNrfsa” x-
cantillationLevel=”0”� 10 ”strong=”1961|������
x-morph=”OSHM:HVqp3cp” x-
cantillationLevel=”1.1.0” ”strong=”8269|�������
x-morph=”OSHM:HNcmpc” ”strong=”3063|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”k/5253|����������/���
x-morph=”OSHM:HR/Vhrmpc” x-
cantillationLevel=”1.0” ”strong=”1366|��������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1” strong=”5921|����/�����
a” x-morph=”OSHM:HR/Sp3mp” x-
cantillationLevel=”0.1” ”strong=”8210|������������
x-morph=”OSHM:HVqi1cs” ”strong=”k/4325|�������/���
x-morph=”OSHM:HRd/Ncmpa” x-
cantillationLevel=”0.0” ”strong=”5678|�/���������
x-morph=”OSHM:HNcfsc/Sp1cs” x-
cantillationLevel=”0”� 11 ”strong=”6231|��������
x-morph=”OSHM:HVqsmsa” ”strong=”669|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”7533|������� x-morph=”OSHM:HVqsmsc”
”strong=”4941|���������� x-
morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”2974|�������� x-morph=”OSHM:HVhp3ms”
x-cantillationLevel=”0.1” ”strong=”1980|�������
x-morph=”OSHM:HVqp3ms” x-
cantillationLevel=”0.0” strong=”310|�������
a” x-morph=”OSHM:HR”�����|strong=”6673”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
12 ”strong=”c/589|������/�� x-
morph=”OSHM:HC/Pp1cs” strong=”k/6211|�����/��
a” x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1.0” ”strong=”l/669|����������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1”
”strong=”c/k/7538|������/��/��
x-morph=”OSHM:HC/Rd/Ncmsa” x-
cantillationLevel=”0.0” strong=”l/1004|�����/��
b” x-morph=”OSHM:HR/Ncmsc” ”strong=”3063|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
13 ”strong=”c/7200|�������/�� x-
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morph=”OSHM:HC/Vqw3ms” ”strong=”669|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”��/�������|strong=”2483”
x-morph=”OSHM:HNcmsc/Sp3ms” x-
cantillationLevel=”1.2.1” ”strong=”c/3063|��������/���
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.2.0”
”strong=”853|��� x-morph=”OSHM:HTo”��/�������|strong=”4205”
x-morph=”OSHM:HNcmsc/Sp3ms” x-
cantillationLevel=”1.2” ”strong=”c/3212|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”669|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”413|��� x-morph=”OSHM:HR”����������|strong=”804”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/7971|����������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4428”
x-morph=”OSHM:HNcmsa” ”strong=”3377|������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/1931|�����/�� x-morph=”OSHM:HC/Pp3ms”
x-cantillationLevel=”0.1.1” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”3201|�������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.1.0”
”strong=”l/7495|�������/�� x-morph=”OSHM:HR/Vqc”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”0.1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”���������|strong=”1455”
x-morph=”OSHM:HVqi3ms” strong=”m/4480|�����/��
a” x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0.0”
”strong=”4205|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 14 strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”595|��������
x-morph=”OSHM:HPp1cs” ”strong=”k/7826|���������/��
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.1.0”
”strong=”l/669|����������/�� x-
morph=”OSHM:HR/Np” x-cantillationLevel=”1.1”
strong=”c/k/3715|��������/��/��
a” x-morph=”OSHM:HC/Rd/Ncmsa”
x-cantillationLevel=”1.0” strong=”l/1004|�����/��
b” x-morph=”OSHM:HR/Ncmsc” ”strong=”3063|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”589|������ x-morph=”OSHM:HPp1cs”
”strong=”589|������ x-morph=”OSHM:HPp1cs”
”strong=”2963|�������� x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”0.1.0” ”strong=”c/3212|�������/��
x-morph=”OSHM:HC/Vqi1cs” x-cantillationLevel=”0.1”
”strong=”5375|�������� x-morph=”OSHM:HVqi1cs”

x-cantillationLevel=”0.0” ”strong=”c/369|�����/��
x-morph=”OSHM:HC/Tn” ”strong=”5337|��������
x-morph=”OSHM:HVhrmsa” x-cantillationLevel=”0”�
15 ”strong=”3212|������� x-morph=”OSHM:HVqi1cs”
”strong=”7725|����������� x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”1.1.0” ”strong=”413|���
x-morph=”OSHM:HR”�/���������|strong=”4725”
x-morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”1.1” ”strong=”5704|����
x-morph=”OSHM:HR” strong=”834|�������
a” x-morph=”OSHM:HTr”������������|strong=”816”
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1.0”
”strong=”c/1245|���������/�� x-
morph=”OSHM:HC/Vpp3cp” ”strong=”6440|�/�����
x-morph=”OSHM:HNcbpc/Sp1cs” x-cantillationLevel=”1”
strong=”b/6862|�����/��� b” x-morph=”OSHM:HRd/Aamsa”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”7836|�����/����������
x-morph=”OSHM:HVpi3mp/Sp1cs” x-
cantillationLevel=”0”�6 ”strong=”3212|������

x-morph=”OSHM:HVqv2mp”
x-cantillationLevel=”1.1.0”

”strong=”c/7725|����������/��
x-morph=”OSHM:HC/Vqh1cp”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”3588|����� a” x-
morph=”OSHM:HC” x-cantillationLevel=”1.0.0”
”strong=”1931|����� x-morph=”OSHM:HPp3ms”
”strong=”2963|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.0” ”strong=”c/7495|���/����������/��
x-morph=”OSHM:HC/Vqi3ms/Sp1cp”
x-cantillationLevel=”1” ”strong=”5221|�����
x-morph=”OSHM:HVhi3ms” x-
cantillationLevel=”0.0” ”strong=”c/2280|���/�����������/��
x-morph=”OSHM:HC/Vqi3ms/Sp1cp”
x-cantillationLevel=”0”� 2
”strong=”2421|���/�������� x-
morph=”OSHM:HVpi3ms/Sp1cp” x-
cantillationLevel=”1.0” ”strong=”m/3117|���������/��
x-morph=”OSHM:HR/Ncmda” x-
cantillationLevel=”1” ”strong=”b/3117|������/���
x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”0.1.0” ”strong=”d/7992|������������/��
x-morph=”OSHM:HTd/Aomsa” x-
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cantillationLevel=”0.1” strong=”6965|���/�������
b” x-morph=”OSHM:HVhi3ms/Sp1cp”
x-cantillationLevel=”0.0” ”strong=”c/2421|��������/��
x-morph=”OSHM:HC/Vqi1cp”
”strong=”l/6440|�/������/�� x-
morph=”OSHM:HR/Ncbpc/Sp3ms”
x-cantillationLevel=”0”� 3
”strong=”c/3045|��������/��
x-morph=”OSHM:HC/Vqh1cp”
”strong=”7291|�����������
x-morph=”OSHM:HVqi1cp” x-
cantillationLevel=”1.1.1” ”strong=”l/3045|�������/��
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”k/7837|�������/���
x-morph=”OSHM:HR/Ncmsa” x-
cantillationLevel=”1.0” strong=”3559|�������
a” x-morph=”OSHM:HVNrmsa”
”strong=”4161|��/�������� x-
morph=”OSHM:HNcmsc/Sp3ms” x-
cantillationLevel=”1” ”strong=”c/935|�������/��
x-morph=”OSHM:HC/Vqi3ms”
”strong=”k/1653|���������/��
x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”0.1.0” ”strong=”l|���/���
x-morph=”OSHM:HR/Sp1cp” x-
cantillationLevel=”0.1” ”strong=”k/4456|����������/���
x-morph=”OSHM:HR/Ncmsa” x-
cantillationLevel=”0.0” strong=”3384|�������
b” x-morph=”OSHM:HVhi3ms”
”strong=”776|������ x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0”� 4
”strong=”4100|���� x-morph=”OSHM:HTi”
strong=”6213|��������� a” x-
morph=”OSHM:HVqi1cs”���/����|strong=”l”
x-morph=”OSHM:HR/Sp2ms” x-
cantillationLevel=”1.1.0” ”strong=”669|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”4100|���� x-morph=”OSHM:HTi”
strong=”6213|�������� a” x-
morph=”OSHM:HVqi1cs”���/����|strong=”l”
x-morph=”OSHM:HR/Sp2ms” x-
cantillationLevel=”1.0” ”strong=”3063|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”

strong=”c/2617|����/�������/��
a” x-morph=”OSHM:HC/Ncmsc/Sp2mp”
x-cantillationLevel=”0.1.0” ”strong=”k/6051|�����/����
x-morph=”OSHM:HR/Ncmsc”��������|strong=”1242”
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.1” ”strong=”c/k/2919|�����/��/��
x-morph=”OSHM:HC/Rd/Ncmsa” x-
cantillationLevel=”0.0” ”strong=”7925|�����������
x-morph=”OSHM:HVhrmsa” ”strong=”1980|�������
x-morph=”OSHM:HVqrmsa” x-
cantillationLevel=”0”� 5 strong=”5921|���
a” x-morph=”OSHM:HR”������|strong=”3651
c” x-morph=”OSHM:HTm” x-
cantillationLevel=”1.1.1” ”strong=”2672|������������
x-morph=”OSHM:HVqp1cs” x-
cantillationLevel=”1.1.0” ”strong=”b/5030|�����������/���
x-morph=”OSHM:HRd/Ncmpa” x-
cantillationLevel=”1.1” ”strong=”2026|�/�����������
x-morph=”OSHM:HVqp1cs/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”b/561|�������/���
x-morph=”OSHM:HR/Ncmpc”�/����|strong=”6310”
x-morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”1” ”strong=”c/4941|��/������������/��
x-morph=”OSHM:HC/Ncmpc/Sp2ms”
x-cantillationLevel=”0.0” ”strong=”216|�����
x-morph=”OSHM:HNcbsa” ”strong=”3318|������
x-morph=”OSHM:HVqi3ms” x-
cantillationLevel=”0”� 6 strong=”3588|�����
a” x-morph=”OSHM:HC” x-
cantillationLevel=”1.0.0” strong=”2617|������
a” x-morph=”OSHM:HNcmsa”
strong=”2654|�����������
a” x-morph=”OSHM:HVqp1cs” x-
cantillationLevel=”1.0” ”strong=”c/3808|���/��
x-morph=”OSHM:HC/Tn”�������|strong=”2077”
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1” ”strong=”c/1847|������/��
x-morph=”OSHM:HC/Ncfsc” ”strong=”430|���������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”0.0” strong=”m/5930|�������/��
a” x-morph=”OSHM:HR/Ncfpa”
x-cantillationLevel=”0”� 7
”strong=”c/1992|�������/��
x-morph=”OSHM:HC/Pp3mp” x-
cantillationLevel=”1.1” ”strong=”k/121|������/���
x-morph=”OSHM:HR/Np” x-
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cantillationLevel=”1.0” strong=”5674|��������
a” x-morph=”OSHM:HVqp3cp”
”strong=”1285|������� x-
morph=”OSHM:HNcfsa” x-cantillationLevel=”1”
”strong=”8033|����� x-morph=”OSHM:HD”
x-cantillationLevel=”0.0” ”strong=”898|���������
x-morph=”OSHM:HVqp3cp” ”strong=”b|�/���
x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”0”� 8 ”strong=”1568|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”7151|�������� x-
morph=”OSHM:HNcfsc” x-cantillationLevel=”1.0”
”strong=”6466|��������� x-
morph=”OSHM:HVqrmpc” ”strong=”205|������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1” strong=”6121|���������
a” x-morph=”OSHM:HAafsa” x-
cantillationLevel=”0.0” ”strong=”m/1818|�����/��
x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0”� 9
”strong=”c/k/2442|�������/��/��
x-morph=”OSHM:HC/R/Vpc”
”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.1.0” ”strong=”1416|�����������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.1.1” ”strong=”2267|������
x-morph=”OSHM:HNcmsc” x-
cantillationLevel=”1.1.0” ”strong=”3548|�����������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.1” ”strong=”1870|��������
x-morph=”OSHM:HNcbsa” x-
cantillationLevel=”1.0” ”strong=”7523|����������
x-morph=”OSHM:HVpi3mp”�/���������|strong=”7927”
x-morph=”OSHM:HNp/Sd” x-
cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”2154|�������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”0.0” strong=”6213|�������
a” x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0”� 10
strong=”b/1004|�����/��� b”
x-morph=”OSHM:HR/Ncmsc” x-
cantillationLevel=”1.1.0” ”strong=”3478|�����������

x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”7200|��������� x-
morph=”OSHM:HVqp1cs” x-
cantillationLevel=”1.0” strong=”8186|�������
b” x-morph=”OSHM:HAafsa” x-
wType=”x-ketiv” 34 ”strong=”8033|�����
x-morph=”OSHM:HD” x-cantillationLevel=”0.1.0”
”strong=”2184|������� x-
morph=”OSHM:HNcfsa” ”strong=”l/669|����������/��
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”0.1” strong=”2930|��������
a” x-morph=”OSHM:HVNp3ms” x-
cantillationLevel=”0.0” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
11 ”strong=”1571|���� x-
morph=”OSHM:HTa”����������|strong=”3063”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”7896|����� x-morph=”OSHM:HVqp3ms”
strong=”7105|������� a” x-
morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.0” ”strong=”l|��/���
x-morph=”OSHM:HR/Sp2fs” x-
cantillationLevel=”1” ”strong=”b/7725|�/�������/���
x-morph=”OSHM:HR/Vqc/Sp1cs” x-
cantillationLevel=”0.0” ”strong=”7622|��������
x-morph=”OSHM:HNcfsc” strong=”5971|�/������
a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0”� �

7 ”strong=”k/7495|�/�������/���
x-morph=”OSHM:HR/Vqc/Sp1cs”
”strong=”l/3478|�����������/��

x-morph=”OSHM:HR/Np” x-
cantillationLevel=”1.1.1” ”strong=”c/1540|��������/��
x-morph=”OSHM:HC/VNp3ms” x-
cantillationLevel=”1.1.0.0” ”strong=”5771|������
x-morph=”OSHM:HNcbsc” ”strong=”669|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
strong=”c/7451|�������/��
c” x-morph=”OSHM:HC/Ncfpc”
”strong=”8111|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”3588|����� a” x-
morph=”OSHM:HC” ”strong=”6466|��������

34+ strong=”8186|����������������������� b” x-morph=”OSHM:HAafsa” x-
cantillationLevel=”1”
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x-morph=”OSHM:HVqp3cp” x-
cantillationLevel=”1.0” ”strong=”8267|�������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1” ”strong=”c/1590|�������/��
x-morph=”OSHM:HC/Ncmsa”
”strong=”935|������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0.1” ”strong=”6584|��������
x-morph=”OSHM:HVqp3ms” ”strong=”1416|��������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.0” ”strong=”b/2351|�����/���
x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0”� 2
”strong=”c/1077|���/�� x-
morph=”OSHM:HC/Tn”�����������|strong=”559”
x-morph=”OSHM:HVqi3mp” x-
cantillationLevel=”1.1.0” ”strong=”l/3824|�/�������/��
x-morph=”OSHM:HR/Ncmsc/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”�/��������|strong=”7451
c” x-morph=”OSHM:HNcfsc/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”2142|�����������
x-morph=”OSHM:HVqp1cs” x-
cantillationLevel=”1” ”strong=”6258|�������
x-morph=”OSHM:HD” x-cantillationLevel=”0.1.0”
”strong=”5437|�/�������� x-
morph=”OSHM:HVqp3cp/Sp3mp”
”strong=”4611|����/����������
x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”5048|������
x-morph=”OSHM:HR” ”strong=”6440|�/������
x-morph=”OSHM:HNcbpc/Sp1cs” x-
cantillationLevel=”0.0” ”strong=”1961|������
x-morph=”OSHM:HVqp3cp” x-
cantillationLevel=”0”� 3 strong=”b/7451|�/�������/���
c” x-morph=”OSHM:HR/Ncfsc/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”8055|�����������
x-morph=”OSHM:HVpi3mp”��������|strong=”4428”
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1” ”strong=”c/b/3585|����/��������/��/��
x-morph=”OSHM:HC/R/Ncmpc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”8269|��������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”0”� 4 ”strong=”3605|��/������
x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”1.2.0” ”strong=”5003|������������
x-morph=”OSHM:HVprmpa” x-

cantillationLevel=”1.2” ”strong=”3644|�������
x-morph=”OSHM:HR” ”strong=”8574|��������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.1” strong=”1197|���������
a” x-morph=”OSHM:HVqrfsa” x-
cantillationLevel=”1.0” ”strong=”m/644|������/���
x-morph=”OSHM:HR/Vqrmsa” x-
cantillationLevel=”1” strong=”7673|�����������
a” x-morph=”OSHM:HVqi3ms”
”strong=”5782|������� x-
morph=”OSHM:HVhrmsa” x-
cantillationLevel=”0.1” ”strong=”m/3888|�������/��
x-morph=”OSHM:HR/Vqc” ”strong=”1217|�������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.0” ”strong=”5704|���
x-morph=”OSHM:HR”��/���������|strong=”2556
a” x-morph=”OSHM:HVqc/Sp3ms”
x-cantillationLevel=”0”� 5
”strong=”3117|����� x-morph=”OSHM:HNcmsc”
”strong=”4428|���/�������� x-
morph=”OSHM:HNcmsc/Sp1cp” x-
cantillationLevel=”1.1” strong=”2470|��������
a” x-morph=”OSHM:HVhp3cp”
”strong=”8269|�������� x-
morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.0” ”strong=”2534|������
x-morph=”OSHM:HNcfsc” ”strong=”m/3196|�������/��
x-morph=”OSHM:HR/Ncmsa” x-
cantillationLevel=”1” ”strong=”4900|��������
x-morph=”OSHM:HVqp3ms” ”strong=”3027|��/����
x-morph=”OSHM:HNcbsc/Sp3ms” x-
cantillationLevel=”0.0” ”strong=”854|���
x-morph=”OSHM:HR”����������|strong=”3945”
x-morph=”OSHM:HVormpa” x-
cantillationLevel=”0”� 6 strong=”3588|�����
a” x-morph=”OSHM:HC”���������|strong=”7126”
x-morph=”OSHM:HVpp3cp” ”strong=”k/8574|���������/��
x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1.0.0” strong=”3820|�/������
a” x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”b/693|�/��������/���
x-morph=”OSHM:HR/Ncmsc/Sp3mp”
x-cantillationLevel=”1” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”����������/���|strong=”d/3915”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”0.2.0” ”strong=”3463|�������
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x-morph=”OSHM:HAamsa” ”strong=”644|����/�����
x-morph=”OSHM:HVqrmsc/Sp3mp”
x-cantillationLevel=”0.2” ”strong=”1242|�������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.1” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” strong=”1197|������
a” x-morph=”OSHM:HVqrmsa” x-
cantillationLevel=”0.0” ”strong=”k/784|�����/���
x-morph=”OSHM:HR/Ncbsc”
”strong=”3852|�������� x-
morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
7 ”strong=”3605|�/������� x-
morph=”OSHM:HNcmsc/Sp3mp”
”strong=”2552|����������
x-morph=”OSHM:HVqi3mp” x-
cantillationLevel=”1.1.0” ”strong=”k/8574|���������/���
x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1.1” ”strong=”c/398|��������/��
x-morph=”OSHM:HC/Vqp3cp” x-
cantillationLevel=”1.0” ”strong=”853|���
x-morph=”OSHM:HTo”����/����������|strong=”8199”
x-morph=”OSHM:HVqrmpc/Sp3mp”
x-cantillationLevel=”1” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”����/��������|strong=”4428”
x-morph=”OSHM:HNcmpc/Sp3mp”
”strong=”5307|�������� x-
morph=”OSHM:HVqp3cp” x-
cantillationLevel=”0.1” ”strong=”369|����
x-morph=”OSHM:HTn”�������|strong=”7121”
x-morph=”OSHM:HVqrmsa” ”strong=”b|����/��
x-morph=”OSHM:HR/Sp3mp” x-
cantillationLevel=”0.0” ”strong=”413|�/�����
x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”0”� 8 ”strong=”669|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”b/5971|��������/���
a” x-morph=”OSHM:HRd/Ncmpa” x-
cantillationLevel=”1.0” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” strong=”1101|������������
a” x-morph=”OSHM:HVri3ms” x-
cantillationLevel=”1” ”strong=”669|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
”strong=”1961|������ x-morph=”OSHM:HVqp3ms”
”strong=”5692|������ x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.0” ”strong=”1097|�������
x-morph=”OSHM:HTn” ”strong=”2015|���������

x-morph=”OSHM:HVqsfsa” x-
cantillationLevel=”0”� 9 ”strong=”398|��������
x-morph=”OSHM:HVqp3cp” strong=”2114|�������
a” x-morph=”OSHM:HAampa” x-
cantillationLevel=”1.1.0” strong=”3581|��/�����
b” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/1931|�����/��
x-morph=”OSHM:HC/Pp3ms” x-
cantillationLevel=”1.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”3045|������
x-morph=”OSHM:HVqp3ms” x-
cantillationLevel=”1” ”strong=”1571|����
x-morph=”OSHM:HTa”���������|strong=”7872”
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”0.1.0” ”strong=”2236|��������
x-morph=”OSHM:HVqp3fs” ”strong=”b|��/���
x-morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”0.1” ”strong=”c/1931|�����/��
x-morph=”OSHM:HC/Pp3ms” x-
cantillationLevel=”0.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”3045|������
x-morph=”OSHM:HVqp3ms” x-
cantillationLevel=”0”� 10
strong=”c/6030|������/�� b”
x-morph=”OSHM:HC/Vqp3ms”
”strong=”1347|������� x-
morph=”OSHM:HNcmsc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”b/6440|�/������/���
x-morph=”OSHM:HR/Ncbpc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”���������|strong=”7725”
x-morph=”OSHM:HVqp3cp” x-
cantillationLevel=”0.1.0” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” ”strong=”430|����/��������
x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”1245|���/��������
x-morph=”OSHM:HVpp3cp/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”b/3605|���/���
x-morph=”OSHM:HR/Ncmsc”������|strong=”2063”
x-morph=”OSHM:HPdxfs” x-
cantillationLevel=”0”� 11
”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3ms”
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”strong=”669|���������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”k/3123|�������/��� x-
morph=”OSHM:HR/Ncfsa” strong=”6601|�������
b” x-morph=”OSHM:HVqrfsa” x-
cantillationLevel=”1.0” ”strong=”369|�����
x-morph=”OSHM:HTn” strong=”3820|����
a” x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1” ”strong=”4714|����������
x-morph=”OSHM:HNp” ”strong=”7121|��������
x-morph=”OSHM:HVqp3cp” x-
cantillationLevel=”0.0” ”strong=”804|���������
x-morph=”OSHM:HNp” ”strong=”1980|��������
x-morph=”OSHM:HVqp3cp” x-
cantillationLevel=”0”� 12
strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr”
”strong=”3212|�������� x-
morph=”OSHM:HVqi3mp” x-
cantillationLevel=”1.1.1” ”strong=”6566|����������
x-morph=”OSHM:HVqi1cs” strong=”5921|����/�����
a” x-morph=”OSHM:HR/Sp3mp” x-
cantillationLevel=”1.1.0” ”strong=”7568|�/���������
x-morph=”OSHM:HNcfsc/Sp1cs” x-
cantillationLevel=”1.1” ”strong=”k/5775|�����/���
x-morph=”OSHM:HR/Ncmsc”
”strong=”d/8064|����������/��
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”1.0” ”strong=”3381|�/����������
x-morph=”OSHM:HVhi1cs/Sp3mp”
x-cantillationLevel=”1” ”strong=”3256|�/���������
x-morph=”OSHM:HVhi1cs/Sp3mp”
x-cantillationLevel=”0.1” strong=”k/8088|�������/���
b” x-morph=”OSHM:HR/Ncmsa” x-
cantillationLevel=”0.0” ”strong=”l/5712|�/�������/��
x-morph=”OSHM:HR/Ncfsc/Sp3mp”
x-cantillationLevel=”0”� � 13
”strong=”188|����� x-morph=”OSHM:HTj”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.1.0” strong=”3588|�����
a” x-morph=”OSHM:HC”���������|strong=”5074”
x-morph=”OSHM:HVqp3cp” strong=”4480|����/������
a” x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”1.1” ”strong=”7701|�����
x-morph=”OSHM:HNcmsa” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-

cantillationLevel=”1.0” strong=”3588|�����
a” x-morph=”OSHM:HC”����������|strong=”6586”
x-morph=”OSHM:HVqp3cp” ”strong=”b|�/���
x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”1” ”strong=”c/595|��������/��
x-morph=”OSHM:HC/Pp1cs” ”strong=”6299|�/��������
x-morph=”OSHM:HVqi1cs/Sp3mp”
x-cantillationLevel=”0.2” ”strong=”c/1992|�������/��
x-morph=”OSHM:HC/Pp3mp” x-
cantillationLevel=”0.1” ”strong=”1696|����������
x-morph=”OSHM:HVpp3cp” strong=”5921|�/�����
a” x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”0.0” ”strong=”3577|����������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”0”� 14 ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”���������|strong=”2199”
x-morph=”OSHM:HVqp3cp” ”strong=”413|��/����
x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”1.1.0” strong=”b/3820|�/������/���
a” x-morph=”OSHM:HR/Ncmsc/Sp3mp”
x-cantillationLevel=”1.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”3213|�����������
x-morph=”OSHM:HVhi3mp” x-
cantillationLevel=”1.0” strong=”5921|���
a” x-morph=”OSHM:HR”�/���������������|strong=”4904”
x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”1” strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”1715”
x-morph=”OSHM:HNcmsa” ”strong=”c/8492|���������/��
x-morph=”OSHM:HC/Ncmsa” x-
cantillationLevel=”0.0.0” strong=”1481|��������������
b” x-morph=”OSHM:HVri3mp” x-
cantillationLevel=”0.0” ”strong=”5493|���������
x-morph=”OSHM:HVqi3mp” ”strong=”b|�/���
x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”0”� 15 ”strong=”c/589|������/��
x-morph=”OSHM:HC/Pp1cs” ”strong=”3256|������������
x-morph=”OSHM:HVpp1cs” x-
cantillationLevel=”1.1” ”strong=”2388|������������
x-morph=”OSHM:HVpp1cs” x-
cantillationLevel=”1.0” ”strong=”2220|�/�����������
x-morph=”OSHM:HNcbpc/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/413|�/�����/��
x-morph=”OSHM:HC/R/Sp1cs” x-
cantillationLevel=”0.0” ”strong=”2803|�����������
x-morph=”OSHM:HVpi3mp”�����|strong=”7451
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b” x-morph=”OSHM:HAamsa” x-
cantillationLevel=”0”� 16 ”strong=”7725|����������
x-morph=”OSHM:HVqi3mp” x-
cantillationLevel=”1.1.1.0” � ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”5920|����
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.1.1” ”strong=”1961|������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.1.0”
”strong=”k/7198|�������/��� x-
morph=”OSHM:HR/Ncfsc” strong=”7423|���������
a” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1”
”strong=”5307|��������� x-morph=”OSHM:HVqi3mp”
”strong=”b/2719|������/�� x-
morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”1.0.0”
”strong=”8269|����/������ x-
morph=”OSHM:HNcmpc/Sp3mp” x-
cantillationLevel=”1.0” ”strong=”m/2195|�������/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”3956|�/���������
x-morph=”OSHM:HNcbsc/Sp3mp” x-
cantillationLevel=”1” ”strong=”2097|����
x-morph=”OSHM:HPdxfs” ”strong=”3933|�/��������
x-morph=”OSHM:HNcmsc/Sp3mp” x-
cantillationLevel=”0.0” ”strong=”b/776|������/���
x-morph=”OSHM:HR/Ncbsc” ”strong=”4714|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�

8 ”strong=”413|��� x-
morph=”OSHM:HR”���/������|strong=”2441”
x-morph=”OSHM:HNcmsc/Sp2ms”

”strong=”7782|������� x-
morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.1” ”strong=”k/5404|��������/���
x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1.0” strong=”5921|���
a” x-morph=”OSHM:HR”�������|strong=”1004
b” x-morph=”OSHM:HNcmsc”
”strong=”3068|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”3282|������ x-morph=”OSHM:HC”
x-cantillationLevel=”0.1.0” strong=”5674|��������
a” x-morph=”OSHM:HVqp3cp”
”strong=”1285|�/�������� x-
morph=”OSHM:HNcfsc/Sp1cs” x-
cantillationLevel=”0.1” strong=”c/5921|���/��

a” x-morph=”OSHM:HC/R”�/����������|strong=”8451”
x-morph=”OSHM:HNcfsc/Sp1cs” x-
cantillationLevel=”0.0” ”strong=”6586|����������
x-morph=”OSHM:HVqp3cp” x-
cantillationLevel=”0”� 2 ”strong=”l|�/���
x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”1.0” ”strong=”2199|����������
x-morph=”OSHM:HVqi3mp” x-
cantillationLevel=”1” ”strong=”430|�/�������
x-morph=”OSHM:HNcmpc/Sp1cs”
”strong=”3045|��/�����������
x-morph=”OSHM:HVqp1cp/Sp2ms”
x-cantillationLevel=”0.0” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
3 strong=”2186|������ a” x-
morph=”OSHM:HVqp3ms” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
strong=”2896|����� b” x-
morph=”OSHM:HAamsa” x-
cantillationLevel=”1” ”strong=”341|�������
x-morph=”OSHM:HVqrmsa” x-
cantillationLevel=”0.0” ”strong=”7291|��/���������
x-morph=”OSHM:HVqi3ms/Sp3ms”
x-cantillationLevel=”0”� 35 We
agree with both BHS 1997 and
BHQ on an unexpected read-
ing. 4 ”strong=”1992|���� x-
morph=”OSHM:HPp3mp” strong=”4427|�����������
a” x-morph=”OSHM:HVhp3cp” x-
cantillationLevel=”1.1.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” strong=”4480|����/������
a” x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”1.1” ”strong=”8323|����������
x-morph=”OSHM:HVhp3cp” x-
cantillationLevel=”1.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”3045|�����������
x-morph=”OSHM:HVqp1cs” x-
cantillationLevel=”1” ”strong=”3701|�/���������
x-morph=”OSHM:HNcmsc/Sp3mp”
”strong=”c/2091|�/�������/��
x-morph=”OSHM:HC/Ncmsc/Sp3mp”
x-cantillationLevel=”0.1.1” strong=”6213|�������
a” x-morph=”OSHM:HVqp3cp”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”

35U
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x-cantillationLevel=”0.1.0” ”strong=”6091|����������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”0.1” ”strong=”4616|��������
x-morph=”OSHM:HR” x-cantillationLevel=”0.0”
”strong=”3772|��������� x-
morph=”OSHM:HVNi3ms” x-
cantillationLevel=”0”� 5 strong=”2186|������
a” x-morph=”OSHM:HVqp3ms” x-
cantillationLevel=”1.1.0” ”strong=”5695|��/�������
x-morph=”OSHM:HNcmsc/Sp2fs”
”strong=”8111|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”2734|������ x-morph=”OSHM:HVqp3ms”
”strong=”639|�/������ x-
morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”1.0” ”strong=”b|�/����
x-morph=”OSHM:HR/Sp3mp” x-
cantillationLevel=”1” ”strong=”5704|���
x-morph=”OSHM:HR”�������|strong=”4970”
x-morph=”OSHM:HTi” x-cantillationLevel=”0.1”
”strong=”3808|���� x-morph=”OSHM:HTn”
”strong=”3201|��������� x-
morph=”OSHM:HVqi3mp” x-
cantillationLevel=”0.0” strong=”5356|���������
a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 6
strong=”3588|����� a” x-
morph=”OSHM:HC” ”strong=”m/3478|������������/��
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”1.2.0” ”strong=”c/1931|�����/��
x-morph=”OSHM:HC/Pp3ms” x-
cantillationLevel=”1.2” ”strong=”2796|�������
x-morph=”OSHM:HNcmsa” strong=”6213|���/������
a” x-morph=”OSHM:HVqp3ms/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”430|���������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.0” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” x-
cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”�����������|strong=”7616”
x-morph=”OSHM:HNcmpa” ”strong=”1961|���������
x-morph=”OSHM:HVqi3ms” x-
cantillationLevel=”0.1” ”strong=”5695|������
x-morph=”OSHM:HNcmsc” x-
cantillationLevel=”0.0” ”strong=”8111|����������

x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
7 strong=”3588|����� a” x-
morph=”OSHM:HC” x-cantillationLevel=”1.0.0”
”strong=”7307|������ x-morph=”OSHM:HNcbsa”
”strong=”2232|����������
x-morph=”OSHM:HVqi3mp” x-
cantillationLevel=”1.0” strong=”c/5492|�/��������/��
a” x-morph=”OSHM:HC/Ncfsa/Sh”
strong=”7114|���������� b”
x-morph=”OSHM:HVqi3mp” x-
cantillationLevel=”1” ”strong=”7054|������
x-morph=”OSHM:HNcfsa” ”strong=”369|�����
x-morph=”OSHM:HTn”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”0.2.1” ”strong=”6780|������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.2.0” ”strong=”1097|�������
x-morph=”OSHM:HTn” strong=”6213|���������
a” x-morph=”OSHM:HVqi3ms”��������|strong=”7058”
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.2” ”strong=”194|�������
x-morph=”OSHM:HD” strong=”6213|����������
a” x-morph=”OSHM:HVqi3ms” x-
cantillationLevel=”0.1” strong=”2114|�������
a” x-morph=”OSHM:HAampa” x-
cantillationLevel=”0.0” ”strong=”1104|���/���������
x-morph=”OSHM:HVqi3mp/Sp3ms”
x-cantillationLevel=”0”� 8
”strong=”1104|�������� x-
morph=”OSHM:HVNp3ms” x-
cantillationLevel=”1.0” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”6258|������� x-
morph=”OSHM:HD” x-cantillationLevel=”0.1.0”
”strong=”1961|������ x-morph=”OSHM:HVqp3cp”
strong=”b/1471|��������/�� a”
x-morph=”OSHM:HRd/Ncmpa” x-
cantillationLevel=”0.1” ”strong=”k/3627|������/���
x-morph=”OSHM:HR/Ncmsa” x-
cantillationLevel=”0.0” ”strong=”369|�����
x-morph=”OSHM:HTn”�������|strong=”2656”
x-morph=”OSHM:HNcmsa” ”strong=”b|��/���
x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� 9
strong=”3588|����� a” x-
morph=”OSHM:HC”���������|strong=”1992”
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x-morph=”OSHM:HPp3mp” x-
cantillationLevel=”1.1.0” ”strong=”5927|������
x-morph=”OSHM:HVqp3cp” ”strong=”804|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”6501|������� x-
morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.0” ”strong=”909|��������
x-morph=”OSHM:HVqrmsa” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”1” ”strong=”669|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”8566|�������� x-
morph=”OSHM:HVhp3cp” ”strong=”158|���������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”0” 36 Marks a
place where we agree with BHQ
against BHS in reading L. 37
38 10 ”strong=”1571|����� x-
morph=”OSHM:HTa” x-cantillationLevel=”1.0.0”
strong=”3588|����� a” x-
morph=”OSHM:HC”���������|strong=”8566”
x-morph=”OSHM:HVqi3mp” strong=”b/1471|��������/��
a” x-morph=”OSHM:HRd/Ncmpa” x-
cantillationLevel=”1.0” ”strong=”6258|�������
x-morph=”OSHM:HD” ”strong=”6908|�/����������
x-morph=”OSHM:HVpi1cs/Sp3mp”
x-cantillationLevel=”1” strong=”c/2490|����������/��
c” x-morph=”OSHM:HC/Vhw3mp”
”strong=”4592|������� x-
morph=”OSHM:HAamsa” x-
cantillationLevel=”0.1” strong=”m/4853|���������/��
a” x-morph=”OSHM:HR/Ncmsc” x-
cantillationLevel=”0.0” ”strong=”4428|�������
x-morph=”OSHM:HNcmsa” ”strong=”8269|��������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”0”� 11
strong=”3588|����� a” x-
morph=”OSHM:HC”����������|strong=”7235
a” x-morph=”OSHM:HVhp3ms”
”strong=”669|���������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.0.0”

”strong=”4196|�����������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.0” ”strong=”l/2398|������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1”
”strong=”1961|����� x-morph=”OSHM:HVqp3cp”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms” ”strong=”4196|������������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.0”
”strong=”l/2398|������/�� x-
morph=”OSHM:HR/Vqc” x-cantillationLevel=”0”�
12 ”strong=”3789|����� x-morph=”OSHM:HVqi1cs”
x-wType=”x-ketiv” 39 ”strong=”l/3789|��/���
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1”
”strong=”7239|��� x-morph=”OSHM:HNcbsc”
x-wType=”x-ketiv” 40 ”strong=”8451|�/����������
x-morph=”OSHM:HNcfsc/Sp1cs” x-
cantillationLevel=”1” ”strong=”3644|������
x-morph=”OSHM:HR”�����|strong=”2114
a” x-morph=”OSHM:HAamsa” x-
cantillationLevel=”0.0” ”strong=”2803|�����������
x-morph=”OSHM:HVNp3cp” x-cantillationLevel=”0”�
13 ”strong=”2077|�������� x-
morph=”OSHM:HNcmpc” ”strong=”1890|�/���������
x-morph=”OSHM:HNcmpc/Sp1cs” x-
cantillationLevel=”1.1.1” ”strong=”2076|�����������
x-morph=”OSHM:HVqi3mp” ”strong=”1320|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.0”
”strong=”c/398|����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.1”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”7521|�/�����
x-morph=”OSHM:HVqp3ms/Sp3mp”
x-cantillationLevel=”1” ”strong=”6258|�������
x-morph=”OSHM:HD” x-cantillationLevel=”0.1.0.0”
”strong=”2142|��������� x-morph=”OSHM:HVqi3ms”
”strong=”5771|��/������ x-morph=”OSHM:HNcbsc/Sp3mp”
x-cantillationLevel=”0.1.0” strong=”c/6485|��������/��
a” x-morph=”OSHM:HC/Vqi3ms” strong=”2403|�/����������
b” x-morph=”OSHM:HNcfpc/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”1992|�������
x-morph=”OSHM:HPp3mp” x-cantillationLevel=”0.0”

36Q
37n Marks an anomalous form.
38p We read punctuation in L differently from BHS.
39+ ”strong=”3789|�������������� x-morph=”OSHM:HVqi1cs”
40+ ”strong=”7230|���������� x-morph=”OSHM:HNcbsc” x-cantillationLevel=”1.0”
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”strong=”4714|���������� x-morph=”OSHM:HNp”
”strong=”7725|���������� x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”0”� 14 ”strong=”c/7911|�����������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”���/�������|strong=”6213
a” x-morph=”OSHM:HVqrmsc/Sp3ms”
x-cantillationLevel=”1.2.1” ”strong=”c/1129|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.2.0”
”strong=”1964|����������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.2” ”strong=”c/3063|��������/���
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.1”
strong=”7235|��������� a” x-morph=”OSHM:HVhp3ms”
x-cantillationLevel=”1.0” strong=”5892|�������
b” x-morph=”OSHM:HNcfpa” ”strong=”1219|����������
x-morph=”OSHM:HAafpa” x-cantillationLevel=”1”
”strong=”c/7971|������������/��
x-morph=”OSHM:HC/Vpq1cs”������|strong=”784”
x-morph=”OSHM:HNcbsa” strong=”b/5892|�/������/���
b” x-morph=”OSHM:HR/Ncfpc/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”c/398|��������/��
x-morph=”OSHM:HC/Vqq3fs” x-cantillationLevel=”0.0”
”strong=”759|��/������������
x-morph=”OSHM:HNcmpc/Sp3fs” x-
cantillationLevel=”0”� �9 ”strong=”408|��� x-

morph=”OSHM:HTn”�����������|strong=”8055”
x-morph=”OSHM:HVqj2ms”

”strong=”3478|����������� x-
morph=”OSHM:HNp” � ”strong=”413|���
x-morph=”OSHM:HR”�������|strong=”1524
a” x-morph=”OSHM:HNcmsa” x-
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x-morph=”OSHM:HTn” ”strong=”4428|�������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.0” ”strong=”l|���/���
x-morph=”OSHM:HR/Sp1cp” x-
cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”3372|����������
x-morph=”OSHM:HVqp1cp” x-
cantillationLevel=”0.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”���������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
44 Marks a place where we agree with
BHQ against BHS in reading L. 45
”strong=”c/d/4428|��������/��/��
x-morph=”OSHM:HC/Td/Ncmsa” x-
cantillationLevel=”0.0” ”strong=”4100|���
x-morph=”OSHM:HTi”�����������|strong=”6213
a” x-morph=”OSHM:HVqi3ms”���/�����|strong=”l”
x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”0”� 4
”strong=”1696|���������� x-
morph=”OSHM:HVpp3cp” ”strong=”1697|���������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.1” ”strong=”422|�������
x-morph=”OSHM:HVqa” ”strong=”7723|�������

44Q
45v We read one or more vowels in L differently from BHS.
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x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.0” ”strong=”3772|�������
x-morph=”OSHM:HVqa” ”strong=”1285|��������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”1” strong=”c/6524|������/��
a” x-morph=”OSHM:HC/Vqq3ms”
”strong=”k/7219|������/���
x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”0.1.0” ”strong=”4941|����������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.1” strong=”5921|����
a” x-morph=”OSHM:HR” x-
cantillationLevel=”0.0” ”strong=”8525|���������
x-morph=”OSHM:HNcmpc” strong=”7704|�������
a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 5
strong=”l/5697|���������/��
a” x-morph=”OSHM:HR/Ncfpc” x-
cantillationLevel=”1.1.0” ”+strong=”1007|������
x-morph=”OSHM:HNp” ”strong=”1007|������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”1481|��������� c”
x-morph=”OSHM:HVqi3mp” x-
cantillationLevel=”1.0” ”strong=”7934|�������
x-morph=”OSHM:HAamsc” ”strong=”8111|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
strong=”3588|���� a” x-morph=”OSHM:HC”�������|strong=”56”
x-morph=”OSHM:HVqp3ms” strong=”5921|�/������
a” x-morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”0.1.1.0” strong=”5971|��/�����
a” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.1.1” ”strong=”c/3649|��/�������/��
x-morph=”OSHM:HC/Ncmpc/Sp3ms”
x-cantillationLevel=”0.1.0” strong=”5921|�/������
a” x-morph=”OSHM:HR/Sp3ms”
”strong=”1523|��������� x-
morph=”OSHM:HVqi3mp” x-
cantillationLevel=”0.1” strong=”5921|���
a” x-morph=”OSHM:HR”��/���������|strong=”3519”
x-morph=”OSHM:HNcbsc/Sp3ms” x-
cantillationLevel=”0.0” strong=”3588|�����
a” x-morph=”OSHM:HC”�������|strong=”1540”
x-morph=”OSHM:HVqp3ms” strong=”4480|����/������
a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� 6
”strong=”1571|���� x-morph=”OSHM:HTa”���/�����|strong=”853”

x-morph=”OSHM:HTo/Sp3ms” x-
cantillationLevel=”1.1.0” ”strong=”l/804|���������/��
x-morph=”OSHM:HR/Np” ”strong=”2986|�������
x-morph=”OSHM:HVHi3ms” x-
cantillationLevel=”1.1” ”strong=”4503|��������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”1.0” ”strong=”l/4428|�������/��
x-morph=”OSHM:HR/Ncmsa”
”strong=”3377|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”1317|����������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”0.1.0” ”strong=”669|����������
x-morph=”OSHM:HNp” ”strong=”3947|�������
x-morph=”OSHM:HVqi3ms” x-
cantillationLevel=”0.1” ”strong=”c/954|��������/��
x-morph=”OSHM:HC/Vqi3ms”
”strong=”3478|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”m/6098|��/������/��
x-morph=”OSHM:HR/Ncfsc/Sp3ms”
x-cantillationLevel=”0”� 7
”strong=”1820|�������� x-
morph=”OSHM:HVNsmsa” ”strong=”8111|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”4428|��/�������� x-
morph=”OSHM:HNcmsc/Sp3fs” x-
cantillationLevel=”1” strong=”k/7110|������/���
b” x-morph=”OSHM:HR/Ncmsa” x-
cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”�������|strong=”6440”
x-morph=”OSHM:HNcbpc”�������|strong=”4325”
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”0”� 8 ”strong=”c/8045|�����������/��
x-morph=”OSHM:HC/VNq3cp” x-
cantillationLevel=”1.2.1.0” ”strong=”1116|��������
x-morph=”OSHM:HNcfpc” ”strong=”205|������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.2.1” strong=”2403|��������
b” x-morph=”OSHM:HNcfsc” x-
cantillationLevel=”1.2.0” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
”strong=”6975|����� x-morph=”OSHM:HNcmsa”
”strong=”c/1863|���������/��
x-morph=”OSHM:HC/Ncmsa” x-
cantillationLevel=”1.1” ”strong=”5927|��������
x-morph=”OSHM:HVqi3ms” x-
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cantillationLevel=”1.0” strong=”5921|���
a” x-morph=”OSHM:HR”�/��������������|strong=”4196”
x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqq3cp”
”strong=”l/2022|�������/���
x-morph=”OSHM:HRd/Ncmpa” x-
cantillationLevel=”0.1.0” ”strong=”3680|���/��������
x-morph=”OSHM:HVpv2mp/Sp1cp”
x-cantillationLevel=”0.1” ”strong=”c/l/1389|����������/��/��
x-morph=”OSHM:HC/Rd/Ncfpa” x-
cantillationLevel=”0.0” ”strong=”5307|��������
x-morph=”OSHM:HVqv2mp” strong=”5921|���/������
a” x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”0”� � 9
”strong=”m/3117|�����/�� x-
morph=”OSHM:HR/Ncmpc” x-
cantillationLevel=”1.1.0” ”strong=”d/1390|���������/��
x-morph=”OSHM:HTd/Np” x-
cantillationLevel=”1.1” ”strong=”2398|��������
x-morph=”OSHM:HVqp2ms” x-
cantillationLevel=”1.0” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”8033|����� x-morph=”OSHM:HD”
”strong=”5975|�������� x-
morph=”OSHM:HVqp3cp” x-
cantillationLevel=”0.1” ”strong=”3808|����
x-morph=”OSHM:HTn”�/�����������|strong=”5381”
x-morph=”OSHM:HVhi3fs/Sp3mp”
”strong=”b/1390|���������/���
x-morph=”OSHM:HRd/Np” x-
cantillationLevel=”0.0.0” ”strong=”4421|����������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”1121
a” x-morph=”OSHM:HNcmpc”
”strong=”5932|���������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”0”� 10
”strong=”b/185|�/��������/���
x-morph=”OSHM:HR/Ncfsc/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”c/3256|�/��������/��
x-morph=”OSHM:HC/Vqi1cs/Sp3mp”

x-cantillationLevel=”1” ”strong=”c/622|���������/��
x-morph=”OSHM:HC/VPq3cp” strong=”5921|����/�����
a” x-morph=”OSHM:HR/Sp3mp” x-
cantillationLevel=”0.1.0” strong=”5971|��������
a” x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”0.1” ”strong=”b/631|�/�������/���
x-morph=”OSHM:HR/Vqc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”l/8147|��������/��
x-morph=”OSHM:HR/Acfdc” strong=”5869|�/����
b” x-morph=”OSHM:HNcbpc/Sp3mp”
x-wType=”x-ketiv” 46 � 11 ”strong=”c/669|����������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.2.0.0”
strong=”5697|�������� a” x-
morph=”OSHM:HNcfsa” ”strong=”3925|�����������
x-morph=”OSHM:HVPsfsa” x-cantillationLevel=”1.2.0”
”strong=”157|����������� x-
morph=”OSHM:HVqrfsc” ”strong=”l/1758|������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.2”
”strong=”c/589|������/�� x-
morph=”OSHM:HC/Pp1cs” strong=”5674|�����������
a” x-morph=”OSHM:HVqp1cs” x-
cantillationLevel=”1.1” strong=”5921|���
a” x-morph=”OSHM:HR”������|strong=”2898”
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.0”
”strong=”6676|��/��������� x-
morph=”OSHM:HNcmsc/Sp3fs” x-
cantillationLevel=”1” ”strong=”7392|����������
x-morph=”OSHM:HVhi1cs” ”strong=”669|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
strong=”2790|���������� a” x-
morph=”OSHM:HVqi3ms” ”strong=”3063|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”7702|��������� x-
morph=”OSHM:HVpi3ms”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”0.0” ”strong=”3290|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
12 ”strong=”2232|�������� x-
morph=”OSHM:HVqv2mp” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” ”strong=”l/6666|��������/��
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”1.1.0”
strong=”7114|�������� b” x-
morph=”OSHM:HVqv2mp” ”strong=”l/6310|���/��

46+ strong=”5868|�/���������/���� a” x-morph=”OSHM:HNcfpc/Sp3mp” x-
cantillationLevel=”0”
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x-morph=”OSHM:HR/Ncmsc”�������|strong=”2617
a” x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.1” ”strong=”5214|�������
x-morph=”OSHM:HVqv2mp” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” x-
cantillationLevel=”1.0” ”strong=”5215|�����
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”c/6256|����/�� x-morph=”OSHM:HC/Ncbsa”
x-cantillationLevel=”0.2.0” ”strong=”l/1875|��������/��
x-morph=”OSHM:HR/Vqc” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2”
”strong=”5704|��� x-morph=”OSHM:HR”��������|strong=”935”
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.1”
strong=”c/3384|������/�� b” x-
morph=”OSHM:HC/Vhi3ms” ”strong=”6664|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”0”� 13 strong=”2790|�����������
a” x-morph=”OSHM:HVqp2mp”��������|strong=”7562”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0.0”
strong=”5766|�/��������� b” x-
morph=”OSHM:HNcbsc/Sd” strong=”7114|�����������
b” x-morph=”OSHM:HVqp2mp” x-
cantillationLevel=”1.0” ”strong=”398|�����������
x-morph=”OSHM:HVqp2mp” ”strong=”6529|������
x-morph=”OSHM:HNcmsc”��������|strong=”3585”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC”�����������|strong=”982”
x-morph=”OSHM:HVqp2ms” ”strong=”b/1870|���/�������/��
x-morph=”OSHM:HR/Ncbsc/Sp2ms”
x-cantillationLevel=”0.0” ”strong=”b/7230|����/���
x-morph=”OSHM:HR/Ncbsc” ”strong=”1368|��/�����������
x-morph=”OSHM:HAampc/Sp2ms”
x-cantillationLevel=”0”� 14 strong=”c/6965|�����/��
b” x-morph=”OSHM:HC/Vqq3ms”
”strong=”7588|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.2.0” strong=”b/5971|���/�����/���
a” x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”1.2” ”strong=”c/3605|���/��
x-morph=”OSHM:HC/Ncmsc”��/�����������|strong=”4013”
x-morph=”OSHM:HNcmpc/Sp2ms” ”strong=”7703|���������
x-morph=”OSHM:HVQi3ms” x-cantillationLevel=”1.1”
”strong=”k/7701|�����/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”8020|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0.0” ”+strong=”1009|������

x-morph=”OSHM:HNp” ”strong=”1009|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”b/3117|�����/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”4421|���������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1” ”strong=”517|����
x-morph=”OSHM:HNcfsa” strong=”5921|���
a” x-morph=”OSHM:HR”���������|strong=”1121
a” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.0”
”strong=”7376|���������� x-morph=”OSHM:HVPp3fs”
x-cantillationLevel=”0”� 15 ”strong=”3602|�������
x-morph=”OSHM:HD” x-cantillationLevel=”1.1.1”
strong=”6213|������� a” x-morph=”OSHM:HVqp3ms”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1.1.0” ”+strong=”1008|������
x-morph=”OSHM:HNp”�����|strong=”1008”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”m/6440|�������/�� x-
morph=”OSHM:HR/Ncbpc” x-cantillationLevel=”1.0”
strong=”7451|������ c” x-morph=”OSHM:HNcfsc”
strong=”7451|����/������� c” x-
morph=”OSHM:HNcfsc/Sp2mp” x-cantillationLevel=”1”
”strong=”b/7837|��������/��� x-
morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.1”
”strong=”1820|�������� x-morph=”OSHM:HVNa”
”strong=”1820|�������� x-morph=”OSHM:HVNp3ms”
x-cantillationLevel=”0.0” ”strong=”4428|�������
x-morph=”OSHM:HNcmsc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�

11 strong=”3588|�����
a” x-morph=”OSHM:HC”
x-cantillationLevel=”1.0.0”

”strong=”5288|������ x-morph=”OSHM:HNcmsa”
”strong=”3478|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”c/157|���/�������/��
x-morph=”OSHM:HC/Vqw1cs/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/m/4714|�����������/��/��
x-morph=”OSHM:HC/R/Np” x-
cantillationLevel=”0.0” ”strong=”7121|���������
x-morph=”OSHM:HVqp1cs” strong=”l/1121|�/�����/��
a” x-morph=”OSHM:HR/Ncmsc/Sp1cs”
x-cantillationLevel=”0”� 2
”strong=”7121|�������� x-
morph=”OSHM:HVqp3cp” x-
cantillationLevel=”1.0” ”strong=”l|����/��
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x-morph=”OSHM:HR/Sp3mp” x-
cantillationLevel=”1” strong=”3651|�����
c” x-morph=”OSHM:HTm” x-
cantillationLevel=”0.2.0” ”strong=”1980|��������
x-morph=”OSHM:HVqp3cp” ”strong=”m/6440|����/������/��
x-morph=”OSHM:HR/Ncbpc/Sp3mp”
x-cantillationLevel=”0.2” strong=”l/1168|����������/��
a” x-morph=”OSHM:HRd/Np”
”strong=”2076|�����������
x-morph=”OSHM:HVpi3mp” x-
cantillationLevel=”0.1” ”strong=”c/l/6456|����������/��/��
x-morph=”OSHM:HC/Rd/Ncmpa” x-
cantillationLevel=”0.0” strong=”6999|�/�����������
a” x-morph=”OSHM:HVpi3mp/Sn”
x-cantillationLevel=”0”� 3
”strong=”c/595|��������/�� x-
morph=”OSHM:HC/Pp1cs” ”strong=”8637|���������������
x-morph=”OSHM:HVcp1cs” x-
cantillationLevel=”1.1.0” ”strong=”l/669|����������/��
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”1.1” ”strong=”3947|�/�����
x-morph=”OSHM:HVqp3ms/Sp3mp”
x-cantillationLevel=”1.0” strong=”5921|���
a” x-morph=”OSHM:HR”�/�������������|strong=”2220”
x-morph=”OSHM:HNcbpc/Sp3ms” x-
cantillationLevel=”1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”3045|��������
x-morph=”OSHM:HVqp3cp” x-
cantillationLevel=”0.0” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”7495|�/���������
x-morph=”OSHM:HVqp1cs/Sp3mp”
x-cantillationLevel=”0”� 4
strong=”b/2256|��������/���
a” x-morph=”OSHM:HR/Ncbpc”
”strong=”120|������ x-morph=”OSHM:HNcmsa”
”strong=”4900|��/��������� x-
morph=”OSHM:HVqi1cs/Sp3mp” x-
cantillationLevel=”1.1.0” ”strong=”b/5688|���������/���
x-morph=”OSHM:HR/Ncbpc”
”strong=”160|�������� x-
morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1”
”strong=”c/1961|��������/��
x-morph=”OSHM:HC/Vqw1cs”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.0.0” strong=”k/7311|���������/���
a” x-morph=”OSHM:HR/Vhrmpc”

”strong=”5923|���� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” strong=”5921|����
a” x-morph=”OSHM:HR” ”strong=”3895|����/�����
x-morph=”OSHM:HNcbdc/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/5186|����/��
x-morph=”OSHM:HC/Vhi1cs”
”strong=”413|�/������ x-
morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”0.0” ”strong=”398|��������
x-morph=”OSHM:HVhi1cs” x-
cantillationLevel=”0”� 5 ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”7725|��������
x-morph=”OSHM:HVqi3ms” x-
cantillationLevel=”1.1.0” ”strong=”413|���
x-morph=”OSHM:HR”�������|strong=”776”
x-morph=”OSHM:HNcbsc” ”strong=”4714|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/804|���������/��
x-morph=”OSHM:HC/Np” x-
cantillationLevel=”1.0” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” ”strong=”4428|��/�������
x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”3985|��������
x-morph=”OSHM:HVpp3cp” x-
cantillationLevel=”0.0” ”strong=”l/7725|������/��
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”0”� 6 strong=”c/2342|������/��
a” x-morph=”OSHM:HC/Vqq3fs”
”strong=”2719|������� x-
morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1.0”
strong=”b/5892|�/������/���
b” x-morph=”OSHM:HR/Ncfpc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/3615|���������/��
x-morph=”OSHM:HC/Vpq3fs”
”strong=”905|�/������� x-
morph=”OSHM:HNcmpc/Sp3ms” x-
cantillationLevel=”1.0” ”strong=”c/398|��������/��
x-morph=”OSHM:HC/Vqq3fs” x-
cantillationLevel=”1” ”strong=”m/4156|����/������������/���
x-morph=”OSHM:HR/Ncfpc/Sp3mp”
x-cantillationLevel=”0”� 7
strong=”c/5971|�/������/�� a”
x-morph=”OSHM:HC/Ncmsc/Sp1cs”
”strong=”8511|����������
x-morph=”OSHM:HVqsmpa” x-
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cantillationLevel=”1.0” ”strong=”l/4878|�/������������/��
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x-morph=”OSHM:HC/R”�����|strong=”5920”
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cantillationLevel=”0.1.0” ”strong=”7121|���/���������
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cantillationLevel=”0”� 47 We
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cantillationLevel=”1.2.1.0” ”strong=”5414|���/�������
x-morph=”OSHM:HVqi1cs/Sp2ms”
”strong=”669|���������� x-
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x-morph=”OSHM:HVpi1cs/Sp2ms”
x-cantillationLevel=”1.2.0” ”strong=”3478|�����������
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morph=”OSHM:HTi” x-cantillationLevel=”1.1.0”
”strong=”5414|���/������� x-
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cantillationLevel=”1” ”strong=”2015|����������
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a” x-morph=”OSHM:HNcmsc/Sp1cs”
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x-morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”1.1” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”7725|��������
x-morph=”OSHM:HVqi1cs” x-
cantillationLevel=”1.0” ”strong=”l/7843|�������/��
x-morph=”OSHM:HR/Vpc” ”strong=”669|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
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morph=”OSHM:HVqi3ms” x-cantillationLevel=”1”
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x-morph=”OSHM:HPp3ms” ”strong=”7580|���������
x-morph=”OSHM:HVqi3ms” x-
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cantillationLevel=”0.1” ”strong=”c/2729|����������/��
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”strong=”5437|���/�������
x-morph=”OSHM:HVqp3cp/Sp1cs”
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x-morph=”OSHM:HR/Ncmsa” x-
cantillationLevel=”1.1.0” ”strong=”669|����������
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cantillationLevel=”0.1.1” ”strong=”5750|����
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x-morph=”OSHM:HVqrmsa” x-
cantillationLevel=”0.1.0” strong=”5973|���
a” x-morph=”OSHM:HR”�����|strong=”410”
x-morph=”OSHM:HNcmsa” x-
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x-morph=”OSHM:HAampa” x-
cantillationLevel=”0.0” ”strong=”539|��������
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morph=”OSHM:HVqrmsa” ”strong=”7307|�������
x-morph=”OSHM:HNcbsa” x-
cantillationLevel=”1.2.0” ”strong=”c/7291|������/��
x-morph=”OSHM:HC/Vqrmsa”
”strong=”6921|������� x-
morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.2” ”strong=”3605|����
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cantillationLevel=”1.1” ”strong=”3577|�������
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x-morph=”OSHM:HNp” ”strong=”3772|����������
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a” x-morph=”OSHM:HR”����������|strong=”3063”
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
strong=”c/l/6485|������/��/��
a” x-morph=”OSHM:HC/R/Vqc”
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x-morph=”OSHM:HVqp3ms” ”strong=”853|���
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x-morph=”OSHM:HNcmsc/Sp3ms”
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x-morph=”OSHM:HVqp3ms” ”strong=”854|���
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x-morph=”OSHM:HNcmsa” x-
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x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”1.1” ”strong=”1058|�������
x-morph=”OSHM:HVqp3ms” x-
cantillationLevel=”1.0” strong=”c/2603|�����������/��
a” x-morph=”OSHM:HC/Vtw3ms”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”1” ”+strong=”1008|������
x-morph=”OSHM:HNp”�����|strong=”1008”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”4672|����/���������
x-morph=”OSHM:HVqi3ms/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”c/8033|�����/��
x-morph=”OSHM:HC/D” x-cantillationLevel=”0.0”
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morph=”OSHM:HVpi3ms” strong=”5973|���/������
a” x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”0”� 6 53
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x-morph=”OSHM:HC/Np” x-
cantillationLevel=”1.0” ”strong=”430|��������
x-morph=”OSHM:HNcmpc” strong=”d/6635|����������/��
b” x-morph=”OSHM:HTd/Ncbpa” x-
cantillationLevel=”1” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”2143|��/������ x-
morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� 7 54
KJV:Hos.12.6 strong=”c/859|�������/��
a” x-morph=”OSHM:HC/Pp2ms” x-
cantillationLevel=”1.0” ”strong=”b/430|��/�������/���
x-morph=”OSHM:HR/Ncmpc/Sp2ms”
”strong=”7725|�������� x-
morph=”OSHM:HVqi2ms” x-
cantillationLevel=”1” strong=”2617|������
a” x-morph=”OSHM:HNcmsa”
”strong=”c/4941|����������/��
x-morph=”OSHM:HC/Ncmsa” x-
cantillationLevel=”0.1.0” ”strong=”8104|�������
x-morph=”OSHM:HVqv2ms” x-
cantillationLevel=”0.1” strong=”c/6960|�������/��
a” x-morph=”OSHM:HC/Vpv2ms”
”strong=”413|��� x-morph=”OSHM:HR”��/���������|strong=”430”
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x-cantillationLevel=”0.0.0” ”strong=”3976|���������
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x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”0.0” ”strong=”l/6231|�������/��
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cantillationLevel=”0”� 10 57
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a” x-morph=”OSHM:HR”�����������/���|strong=”d/5030”
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cantillationLevel=”1.0” ”strong=”1935|��/�����
x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/7381|�������/��
x-morph=”OSHM:HC/Ncmsa”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”k/3844|����������/���
x-morph=”OSHM:HRd/Np” x-
cantillationLevel=”0”� 8 72
KJV:Hos.14.7 ”strong=”7725|����������
x-morph=”OSHM:HVqi3mp” x-

cantillationLevel=”1.1.0” ”strong=”3427|���������
x-morph=”OSHM:HVqrmpc” ”strong=”b/6738|��/�����/��
x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”2421|���������
x-morph=”OSHM:HVpi3mp” ”strong=”1715|������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.0” strong=”c/6524|����������/��
a” x-morph=”OSHM:HC/Vqi3mp”
”strong=”k/1612|�������/��
x-morph=”OSHM:HRd/Ncbsa” x-
cantillationLevel=”1” ”strong=”2143|��/������
x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”k/3196|�����/���
x-morph=”OSHM:HR/Ncmsc”
”strong=”3844|��������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0”�
� 9 73 KJV:Hos.14.8 ”strong=”669|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”4100|��� x-morph=”OSHM:HTi”�/�����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” ”strong=”5750|�����
x-morph=”OSHM:HD” x-cantillationLevel=”1.0”
”strong=”l/6091|����������/���
x-morph=”OSHM:HRd/Ncmpa” x-
cantillationLevel=”1” ”strong=”589|������
x-morph=”OSHM:HPp1cs” strong=”6030|���������
b” x-morph=”OSHM:HVqp1cs”
”strong=”c/7789|����/���������/��
x-morph=”OSHM:HC/Vqw1cs/Sp3ms”
x-cantillationLevel=”0.1.1” ”strong=”589|������
x-morph=”OSHM:HPp1cs” x-
cantillationLevel=”0.1.0” ”strong=”k/1265|��������/���
x-morph=”OSHM:HR/Ncmsa”
strong=”7488|��������� b”
x-morph=”OSHM:HAamsa” x-
cantillationLevel=”0.1” strong=”4480|����/������
a” x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”0.0” ”strong=”6529|���/�������
x-morph=”OSHM:HNcmsc/Sp2ms”
”strong=”4672|�������� x-
morph=”OSHM:HVNp3ms” x-
cantillationLevel=”0”� 10 74
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KJV:Hos.14.9 ”strong=”4310|����
x-morph=”OSHM:HTi” ”strong=”2450|������
x-morph=”OSHM:HAamsa” x-
cantillationLevel=”1.1.0” ”strong=”c/995|�������/��
x-morph=”OSHM:HC/Vqj3ms”
”strong=”428|������� x-morph=”OSHM:HPdxcp”
x-cantillationLevel=”1.1” ”strong=”995|�������
x-morph=”OSHM:HVNrmsa” x-
cantillationLevel=”1.0” ”strong=”c/3045|�/��������/��
x-morph=”OSHM:HC/Vqj3ms/Sp3mp”
x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”�����������|strong=”3477”
x-morph=”OSHM:HAampa” x-
cantillationLevel=”0.1.1.0” ”strong=”1870|���������

x-morph=”OSHM:HNcbpc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1”
”strong=”c/6662|����������/��
x-morph=”OSHM:HC/Aampa” x-
cantillationLevel=”0.1.0” ”strong=”3212|��������
x-morph=”OSHM:HVqi3mp” ”strong=”b|�/���
x-morph=”OSHM:HR/Sp3mp” x-
cantillationLevel=”0.1” ”strong=”c/6586|����������/��
x-morph=”OSHM:HC/Vqrmpa” x-
cantillationLevel=”0.0” ”strong=”3782|������������
x-morph=”OSHM:HVNi3mp” ”strong=”b|�/���
x-morph=”OSHM:HR/Sp3mp” x-
cantillationLevel=”0”�


